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Question Number : 1 Question Id : 1908891042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
Type of monsoon Month
A. Pre-monsoon I. January - February

B. North-East monsoon [II. March - May
C. South-West monsoon III. June - September

D. Post-monsoon IV. October - December

Choose the correct answer from the options given below:

A-II.B-LC-III.D-1IV
A-IMB-IV.C-II.D-1I
A-ILB-ILC-NM.D-1IV
A-IV.B-IIILC-II.D-I

b

gl ol

Options :

1908894101. 1
1908894102. 2
1908894103. 3

1908894104. 4

Question Number : 1 Question Id : 1908891042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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A-ILB-LC-II.D-IV
A-TMIL.B-IV.C-IILD-I
A-LB-ILC-II.D-1IV
A-IV.B-IIIL.C-II.D-I
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Options:

1908894101. 1
1908894102. 2
1908894103. 3

1908894104. 4

Question Number : 2 Question Id : 1908891043 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the relationship between light intensity and photosynthesis?

Linear

| e ]

Curvi-linear
Quadratic
Parallel

. e

Options :
1908894105. 1
1908894106. 2



1908894107. 3
1908894108. 4

Question Number : 2 Question Id : 1908891043 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894105. 1
1908894106. 2
1908894107. 3
1908894108. 4

Question Number : 3 Question Id : 1908891044 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: The cell wall is found only in the plants whereas absent in ammals.
Reason R: The cell wall is produced and maintained by living protoplasm.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A is not correct but R is correct
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Options:

19088941009. 1
1908894110. 2
1908894111.3

1908894112. 4

Question Number : 3 Question Id : 1908891044 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1908894109. 1
1908894110. 2
1908894111. 3

1908894112. 4

Question Number : 4 Question Id : 1908891045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The division of cytoplasm takes place by cell plate method in animals and furrow
method n plants.

Statement II: The cytokinesis takes place after meiosis I and meiosis IT separately or sometimes
at the end of meiosis IT only.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

|
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Options :

1908894113. 1
1908894114. 2
1908894115. 3

1908894116. 4

Question Number : 4 Question Id : 1908891045 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908894113. 1
1908894114. 2
1908894115. 3

1908894116. 4

Question Number : 5 Question Id : 1908891046 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Ploidy levels Description

A. Allohexaploidy [I. Four copies of the same genome.

B. Autohexaploidy |IL. Six copies of the same genome.

C. Autotetraploidy |III. Two copies each of the three distinct genmnes.._

D. Allotetraploidy [IV. Two copies each of two distinct genomes.

Choose the correct answer from the options given below:

1. A-ILB-II,C-IV,D-1II

2. A-IILB-1IV,C-IILD -1

3. A-IMLLB-IILC-L.D-1IV

4. A-I1B-NII.C-IV.D-1I
Options :

1908894117. 1
1908894118. 2
1908894119. 3

1908894120. 4

Question Number : 5 Question Id : 1908891046 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894117. 1
1908894118. 2
1908894119. 3

1908894120. 4

Question Number : 6 Question Id : 1908891047 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:
A. Spontaneous mutations occur in nature.

B. Forward mutations occur from mutant allele to wild type.

C. Reverse mutations occur from the wild type to mutant allele.
D. Somatic mutations occur in somatic tissues or cells.

Choose the correct answer from the options given below:

1. A andB only

2. AandD only

3. Band C only

4. Cand D only
Options :

1908894121. 1
1908894122. 2
1908894123. 3

1908894124. 4

Question Number : 6 Question Id : 1908891047 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894121. 1
1908894122. 2
1908894123. 3

1908894124. 4

Question Number : 7 Question Id : 1908891048 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Mendel selected garden pea for his mvestigations on mherntance.

Reason R: Garden pea 1s a hermaphrodite, self-fertilized and long duration crop which helped
Mendel in mamtaining the purity of genetic material,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A 15 not correet but R 1s correct

e Laa B e

Options :

1908894125. 1
1908894126. 2
1908894127. 3

1908894128. 4

Question Number : 7 Question Id : 1908891048 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894125. 1
1908894126. 2
1908894127.3
1908894128. 4

Question Number : 8 Question Id : 1908891049 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Glycoproteins have unusual properties due to polar groups.
Reason R: Gonadotropic hormone 1s an example of glycoprotein.
In light of the above statements, choose the most appropriate answer trom the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 15 not correct

A is not correct but R is correct

= o b



Options :

1908894129. 1
1908894130. 2
1908894131.3
1908894132. 4

Question Number : 8 Question Id : 1908891049 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894129. 1
1908894130. 2
1908894131.3
1908894132. 4

Question Number : 9 Question Id : 1908891050 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which class of following lipids is apparently lacking in plants?

Acyl glycerol
Waxes
Phospholipids

| S

o

Sphingolipids

Options :

1908894133. 1
1908894134. 2
1908894135. 3

1908894136. 4

Question Number : 9 Question Id : 1908891050 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894133. 1
1908894134. 2
1908894135. 3
1908894136. 4

Question Number : 10 Question Id : 1908891051 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:

A. Thiamine (Vit By) functions as a coenzyme for pyruvate metabolism.

B. Riboflavin (Vit By) functions as a prosthetic group of flavoprotein enzyme.
C. Sterol (Vit D) functions as a coenzyme in pyruvic oxidation.

D. Pyrdoxine (Vit Bg) functions as a coenzyme for amino acid conversion.
Choose the correct answer from the options given below:

A.CandD only

B. C and D only

A.Band D only
A. B and C only

b

gt

Options :

1908894137. 1
1908894138. 2
1908894139. 3

1908894140. 4

Question Number : 10 Question Id : 1908891051 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894137. 1
1908894138. 2
1908894139. 3
1908894140. 4

Question Number : 11 Question Id : 1908891052 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not a characteristic n prokaryotic cells?

Uncovered DNA.

DNA 15 associated with histones.

They lack membrane-enclosed organelles.
Divide by binary fission.

L R
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Options :

1908894141. 1



1908894142. 2
1908894143. 3

1908894144. 4

Question Number : 11 Question Id : 1908891052 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894141. 1
1908894142. 2
1908894143. 3

1908894144. 4

Question Number : 12 Question Id : 1908891053 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Fungi is a heterotrophic and sterols are present in their cell membrane.

Statement IT: Bacteria cell wall contains peptidoglycan and sterols are absent i their cell
membrane, except in mycoplasma.

In light of the above statements. choose the mest apprepriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

e o D

Options :

1908894145. 1
1908894146. 2
1908894147.3
1908894148. 4

Question Number : 12 Question Id : 1908891053 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1908894145. 1
1908894146. 2
1908894147. 3

1908894148. 4

Question Number : 13 Question Id : 1908891054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Most protozoa are free- living, in fresh water or marine environments.
Reason R: Moisture 15 absolutely required for protozoa.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A 15 correct but R is not correct

A 1s not correet but R is correct

ol
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Options :

1908894149. 1
1908894150. 2
1908894151. 3

1908894152. 4

Question Number : 13 Question Id : 1908891054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894149. 1
1908894150. 2
1908894151. 3

1908894152. 4

Question Number : 14 Question Id : 1908891055 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many well defined breeds of buffalo are there in India?

12
14
17
20

b -
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Options :

1908894153. 1
1908894154. 2
1908894155. 3
1908894156. 4



Question Number : 14 Question Id : 1908891055 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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= 12
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Options :

1908894153. 1
1908894154. 2
1908894155. 3

1908894156. 4

Question Number : 15 Question Id : 1908891056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Swamp buffaloes have 48 chromosomes.
Statement IT: Manipuri buffaloes are true swamp buffaloes.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

e L D

Options :
1908894157. 1
1908894158. 2

1908894159. 3



1908894160. 4

Question Number : 15 Question Id : 1908891056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894157. 1
1908894158. 2
1908894159. 3

1908894160. 4

Question Number : 16 Question Id : 1908891057 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Cattle Breed (Place

A. Bachaur I. Kerala

B. Punganur IT. Andhra Pradesh
C. Umblachery ITI. Bihar

D. Vechure IV. Tamil Nadu

Choose the correct answer from the options given below:

A-IB-II.C-III.D-1IV
A-III.LB-IV.C-1.D-1II
A-IM.B-II,C-IV.D-1
A-IV.B-LC-III.D-II

| S
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Options :

1908894161. 1
1908894162. 2
1908894163. 3

1908894164. 4

Question Number : 16 Question Id : 1908891057 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894161. 1
1908894162. 2
1908894163. 3

1908894164. 4

Question Number : 17 Question Id : 1908891058 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: India 15 world’s largest producer of nulk.
Reason R: Indian cattle species have greater resistance to tropical diseases.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 1s not correct

A 15 not correct but R 15 correct

b i
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Options :

1908894165. 1
1908894166. 2
1908894167. 3

1908894168. 4

Question Number : 17 Question Id : 1908891058 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894165. 1
1908894166. 2
1908894167. 3
1908894168. 4

Question Number : 18 Question Id : 1908891059 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. - - a - th
How much quantity of fresh warm whole milk must be fed to calves from 4™ day onwards?

1/5% of its body weight

1/10% of its body weight
1/15% of its body weight
120® of its body weight

e Lo B =

Options :

19088941609. 1
1908894170. 2
1908894171. 3

1908894172. 4

Question Number : 18 Question Id : 1908891059 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1908894170. 2
1908894171. 3

1908894172. 4

Question Number : 19 Question Id : 1908891060 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Bulls require 12 m’ covered area per animal.
Statement IT: Bulls require 120 m’ open area per animal.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement IT 1s correct

[ R N

Options :

1908894173. 1
1908894174. 2
1908894175. 3
1908894176. 4

Question Number : 19 Question Id : 1908891060 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894173. 1
1908894174. 2
1908894175. 3

1908894176. 4

Question Number : 20 Question Id : 1908891061 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: If nulking 1s incomplete there is a tendency for the cow to dry off too soon.
Statement II: Incomplete milking results i udder infection.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement II 1s icorrect
Statement I 1s incorrect but Statement II 1s correct

= o b

Options :

1908894177. 1



1908894178. 2
1908894179. 3

1908894180. 4

Question Number : 20 Question Id : 1908891061 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT T FAF TT AT E

FUF - 1300 O 79 A A R S A A A gy A qEe # g @
Tl £

FUF - 11: ¥00 79 77 § HOA § WHEAV @ T £
ITEFT FUA F A F AT aFed F ¥ W el I

| FU 13T naa T
2. FUF 3R 13 79 8
3. FUF 188 8. fheq F9F 17T 2
4. FIF 1770 8. e FIF T HE £

Options:

1908894177. 1
1908894178. 2
1908894179. 3
1908894180. 4

Question Number : 21 Question Id : 1908891062 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:
A. Foot and mouth disease 1s caused by virus.

B. Brucellosis disease 1s caused by bacteria.

C. Haemorrhagic septicaemia 1s caused by bacteria.

D. Rinderpest 1s caused by virus.

Choose the correct answer from the options given below:

1. A.BandD only

2. A.BandC only

3. AandB only

4. A.C and D only
Options :

1908894181. 1
1908894182. 2
1908894183. 3

1908894184. 4

Question Number : 21 Question Id : 1908891062 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fa=faf@a st #t 9w 3R w2 Fuar Fr sifev
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1. AB.c3iTpDugr ¢
2. FIT A BHR cHEr &
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Options :

1908894181. 1
1908894182. 2
1908894183. 3

1908894184. 4

Question Number : 22 Question Id : 1908891063 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Ruminants frequently going to grassland rarely face vitamin D deficiency.
Reason R: Vitamin D is synthesized by ruminant animals when exposed to sunlight.

In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 13 NOT the correct explanation of A
A is correct but R 1s not correct

[ —

ke

A 15 not correct but R 15 correct

Options :

1908894185. 1
1908894186. 2
1908894187.3
1908894188. 4

Question Number : 22 Question Id : 1908891063 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894185. 1
1908894186. 2
1908894187. 3
1908894188. 4

Question Number : 23 Question Id : 1908891064 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the primary sex organ in male reproductive system of animals?

Penis

Testicles
Seminal Vesicles
Spermatic cord

e o D

Options :

19088941809. 1
1908894190. 2
1908894191. 3
1908894192. 4

Question Number : 23 Question Id : 1908891064 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAefofEd # & Fia@r 99 a7 F0d a9 # AT o HT § 2

1. forem

ERil
3. YHREI
4. 9907 1=

Options:

[ ]

1908894189. 1



1908894190. 2
1908894191. 3

1908894192. 4

Question Number : 24 Question Id : 1908891065 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List T List IT

Animal species Length of estrous cycle
A. Buftalo 1. 16 — 17 days

'B. Mare II. 19 — 20 days

C. Sheep III. 20 -23 days

ID. Sow IV. 20-22 days

Choose the correct answer from the options given below:

A-MMB-II.C-IV.D-I
A-IV.B-LC-II.D-III
A-IV.B-IIIL,C-1.D-1I
A-LB-II.C-TII.D-IV

| S

5w

Options :

1908894193. 1
1908894194. 2
1908894195. 3

1908894196. 4

Question Number : 24 Question Id : 1908891065 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T -1 HqET -1

(T F=AITe) (#E =T%F FI M)
A HT 116-17feA
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A-TII.B-IILC-IV.D-1
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A-IV.B-IILC-1.D-1I
A-LB-IILC-NLD-IV
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Options :

1908894193. 1
1908894194. 2
1908894195. 3

1908894196. 4

Question Number : 25 Question Id : 1908891066 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I |List IT

Milk Product Place

A. Basundi \I. North East India
B. Sandesh I1. East India

C. Churpi I11. South India
D. Payasum IV. West India

Choose the correct answer from the options given below:

A-IV.B-ILC-II.D-1III
A-ILB-IILC-III.D - IV
A-IM.B-IV.C-II.D-1
A-IV.B-II.C-LD-III

LI S

e

Options :

1908894197. 1
1908894198. 2
1908894199. 3

1908894200. 4

Question Number : 25 Question Id : 1908891066 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=T -IFI A -1 ¥ g HifST
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A-IV,B-LC-H,D-III
A-LB-ILC-NII.D-IV
A-NMLB-IV.C-IILD-I
A-IV.B-II,C-1.D-1III
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Options :

1908894197. 1
1908894198. 2
1908894199. 3

1908894200. 4

Question Number : 26 Question Id : 1908891067 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What 1s the scientific name of finger millet?

Setaria italica L. Beauv
Eleusine coracana L.

LI S ]

Panicum sumatrense
Panicum miliaceum

=

Options :
1908894201. 1

1908894202. 2



1908894203. 3

1908894204. 4

Question Number : 26 Question Id : 1908891067 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FT SATAF ATH FAT § 2

et

. §eTT gerfersrr Ta. §1g3
. FOIfEeT FRIRET T,

. 9fFFH R
4. UT=FH AtaETs

b
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Options :

1908894201. 1
1908894202. 2
1908894203. 3

1908894204. 4

Question Number : 27 Question Id : 1908891068 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the name of fertilizer prepared from Rhizobium culture?

Bio-fertilizer
Azotobacterin

| S

Ll

Bhizobium
Nitrogin

s

Options:

1908894205. 1
1908894206. 2
1908894207. 3

1908894208. 4



Question Number : 27 Question Id : 1908891068 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TESAIaTH TIU IRl dIK 393 i 5T Fgd & 2

1. 3fFF 389
2. TSEF
TEATTTH
4. FATSeITSAA

fal

Options :

1908894205. 1
1908894206. 2
1908894207. 3

1908894208. 4

Question Number : 28 Question Id : 1908891069 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the total irrigated area of India?

58.5 million hectare
63.4 million hectare
78.5 million hectare
28.5 mullion hectare

b

]

Options:

1908894209. 1
1908894210. 2
1908894211.3

1908894212. 4



Question Number : 28 Question Id : 1908891069 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R F1 F WRT &7 fFaam g 2

Options :

19088942009. 1
1908894210. 2
1908894211.3

1908894212. 4

Question Number : 29 Question Id : 1908891070 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: Sustainable agriculture is the successful management of resources to satisfy
changing human needs while mantaining the quality of the environment and conservation of
natural resources.

Statement II: Contingency cropping system 1s growing of crops in aberrant weather conditions,

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s incorrect
Statement I 1s incorrect but Statement IT 1 correct

[

Options:
1908894213. 1

1908894214. 2



1908894215. 3
1908894216. 4

Question Number : 29 Question Id : 1908891070 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT FAA RU AT ¥
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Options :

1908894213. 1
1908894214. 2
1908894215. 3

1908894216. 4

Question Number : 30 Question Id : 1908891071 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: The optimum soil temperature for micro-organisms 1s ranged from 40 °C to 45 °C.

Statement II: Various microbiological processes like mineralization of nitrogen. nitrogen
fixation. pesticide degradation etc. are mainly mfluenced by soil temperature.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement I 15 correct

e o b —

Options :

1908894217. 1
1908894218. 2
1908894219. 3

1908894220. 4

Question Number : 30 Question Id : 1908891071 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A FAF T AT E
FIF - 1. QR & F T 7o 7 gffeaq aAe 40 °C §45 °C & 2
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Options :



1908894217. 1
1908894218. 2
1908894219. 3

1908894220. 4

Question Number : 31 Question Id : 1908891072 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read the following statements and choose the correct statements:

A, Balance nutrition to crop plants inereases vield and quality.

B. Nutrient deficiency symptoms are rare with balance fertilization.

C. Integrated nutrient management practices provide the nutrients to crop in balance ratio.

D. Integrated nutrient management 1s an economic viable and environmentally safer practice,

Choose the correct answer from the options given below:

A. CandD only
B.C and D only
A.B.CandD

A.Band C only

e L et -

Options:

1908894221. 1
1908894222. 2
1908894223. 3
1908894224. 4

Question Number : 31 Question Id : 1908891072 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894221. 1
1908894222. 2
1908894223. 3

1908894224. 4

Question Number : 32 Question Id : 1908891073 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Measurement of water deficit in plants 1s must for scheduling irrigation.
Statement IT: Crop water requirement may not vary with soil types, crops and growth stages.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

b —

ot

Options :

1908894225. 1
1908894226. 2
1908894227. 3

1908894228. 4

Question Number : 32 Question Id : 1908891073 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894225. 1
1908894226. 2
1908894227. 3
1908894228. 4

Question Number : 33 Question Id : 1908891074 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List I List IT

Soil Types Spacing of water drainage in m|
A Clay 1.30-100 |
B. Loam I1. 30 - 70

C. Sandy loam III. 10 - 20

D. Peat IV. 20 - 35

Choose the correct answer from the options given below:

A-IV.B-IILLC-II.D-I
A-IMB-II.C-LD-IV
A-TII.B-IV.C-II.D-I
A-IV.B-II.C-IIL.D-I

[ S

= w

Options :

1908894229. 1
1908894230. 2
1908894231.3

1908894232. 4

Question Number : 33 Question Id : 1908891074 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894229. 1
1908894230. 2
1908894231. 3

1908894232. 4

Question Number : 34 Question Id : 1908891075 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:

A, Tubers of Cyperus esculentis affect the growth of maize.

B. Crop rotation 1s one of the most important practices for controlling all weeds.
C. Seed exudates of wild oat affect wheat germination.

D. Seced bed preparation maxumzes the early weed flushes,

E. Smother crops grown as intercrop to suppress the weed flora.

Choose the correct answer from the options given below:

1. A BandC only
2. B.CandD only
C.D and E only
4. A CandE only

L]

Options :

1908894233. 1
1908894234. 2
1908894235. 3
1908894236. 4

Question Number : 34 Question Id : 1908891075 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894233. 1
1908894234, 2
1908894235. 3
1908894236. 4

Question Number : 35 Question Id : 1908891076 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the amount of sulfosulfuron containing 0.75 kg a.1. per kg, for an area of 5 ha. The
application rate 1s 3.0 kg a.1./ ha.

20 kg/ ha
40 kg/ ha
30 kg/ ha
10 kg/ ha

| =

et

Options:



1908894237. 1
1908894238. 2
1908894239. 3

1908894240. 4

Question Number : 35 Question Id : 1908891076 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 W & F o0 Fenrdeqia S AE FEH 075 Fem /.3, 9fd o &
IUTAT FI| 39T 2T 3.0 TR ma g d

1. 20fFm A&
2. 40 e A2
3. 30 fFm A2
4. 107Fm .

Options :

1908894237. 1
1908894238. 2
1908894239. 3

1908894240. 4

Question Number : 36 Question Id : 1908891077 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

.Cl‘ﬂ-p 'Weed species
A. Berseem I. Wild rice
B. Wheat I1. Wild oat
C.Rice III. Chicory
D. Tea IV. Loranthus

Choose the correct answer from the options given below:

A-IV.B-II.C-1LD-1III
A-LB-IILC-III. D-IV
A-II.B-III.C-L.D-1IV
A-IIILB-IILC-L.D-1IV

LV S ]

e

Options :

1908894241. 1
1908894242. 2
1908894243. 3
1908894244. 4

Question Number : 36 Question Id : 1908891077 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is
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Options :

1908894241. 1
1908894242. 2
1908894243. 3

1908894244. 4

Question Number : 37 Question Id : 1908891078 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:
A. Pusa 1121 is the ruling basmati rice variety.

B. C-306 1is a drought tolerant wheat variety.

C. UPAS 120 1s an early variety of pigeon pea.

D. Black soils are most suitable for cotton cultivation.

E. India ranks first in rice production.

Choose the correct answer from the options given below:

1. A.B.C and D only

2. B,C.D and E only

3. A .C.DandE only

4. A.B.DandE only
Options :

1908894245. 1
1908894246. 2
1908894247. 3
1908894248. 4

Question Number : 37 Question Id : 1908891078 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894245, 1
1908894246. 2
1908894247. 3

1908894248. 4

Question Number : 38 Question Id : 1908891079 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Dryland agriculture 15 occupying 67 % of the cultivated area and contributing more
than 50 % to the total foodgraims.

Statement II: India received average annual rainfall of about 1000 mm which 1s below the
global average rainfall,

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct

[ R

Both Statement I and Statement IT are imcorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 15 incorrect but Statement I1 15 correct

[ N ]

Options :

1908894249. 1
1908894250. 2
1908894251. 3
1908894252. 4

Question Number : 38 Question Id : 1908891079 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894249. 1
1908894250. 2
1908894251. 3

1908894252. 4

Question Number : 39 Question Id : 1908891080 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Sodium benzoate 1s used as preservatives in fruit product having natural colour.
Reason R: For every kilogram of fruit juice or pulp. 10 gram sodium benzoate 15 added.
In light of the above statements, choose the most appropriate answer from the options given

below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R is not correct

A is not correct but R 1s correct

e

Options :

1908894253. 1
1908894254. 2
1908894255. 3

1908894256. 4

Question Number : 39 Question Id : 1908891080 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(

|

A

(4) T § T (R) Wel 1 21
A) T T E R (R) T B
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Options :

1908894253. 1
1908894254. 2
1908894255. 3

1908894256. 4

Question Number : 40 Question Id : 1908891081 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the number of plants of tomato accommodated in one hectare area. 1f row to row
distance 1s 60 cm and plant to plant distance 15 45 cm?

47000 Approximately
37000 Approximately
33000 Approximately
27000 Approximately

N W R S R

Options :
1908894257. 1
1908894258. 2

1908894259. 3



1908894260. 4

Question Number : 40 Question Id : 1908891081 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ¢3¢t 8T H o0 3T THIET & St T 001 T 39 FaR § FaR $ &lf
60 TAT TF 9 F o Fr gl 45 AT E 0

1. ofdTHT 47000
2. ofdTAdT 37000
3. oA 33000
4. oA 27000

Options :
1908894257. 1
1908894258. 2

1908894259. 3
1908894260. 4

Question Number : 41 Question Id : 1908891082 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s most common and commercial method of propagation in
gladiolus?

Tissue culture
Seed

Corm

Suckers

bt i

T

Options :
1908894261. 1
1908894262. 2

1908894263. 3



1908894264. 4

Question Number : 41 Question Id : 1908891082 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 7 ¢ WY § 9T § fts aFhT © o B e g

1. 3caF gaud
2. A
3. FH
4, THFU

Options :

1908894261. 1
1908894262. 2
1908894263. 3

1908894264. 4

Question Number : 42 Question Id : 1908891083 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: December- February 1s 1deal time for rose budding (T-budding) mn northern plains
of India.

Reason R: The commonly used rootstock for budding 1s Eduard rose (R. bourboniana).

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 15 not correct

A 15 not correct but R is correct

b —

ol

Options :

1908894265. 1
1908894266. 2
1908894267. 3

1908894268. 4

Question Number : 42 Question Id : 1908891083 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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)
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Options :

1908894265. 1
1908894266. 2
1908894267. 3
1908894268. 4

Question Number : 43 Question Id : 1908891084 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List IT

Crop Rootstock

A. Grape I. Jatti- Khatt
B. Mango II. Dog Ridge
C. Guava III. Kurukan
D. Citrus IV. Pusa Srijan

Choose the correct answer from the options given below:

A-II.B-IV.C-III. D -1
A-IILB-III.C-IV.D-I
A-IMMB-1L.C-II,D-IV
A-IV.B-III.C-II.D-1

LI S ]

<o

Options :

1908894269. 1
1908894270. 2
1908894271.3

1908894272. 4

Question Number : 43 Question Id : 1908891084 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=T -1 =T -1
(FE) (1)
A ¥ I 3T - TET
B. H1H 11 211
C. 3A%S 111 F&Fa
D. g ==ffT wa IV. 8T g1
A fev av fawedt # ¥ W e g

I A-TIB-IV;C-OLD-I

A-IILB-NL.C-IV.D -1
A-IMILLB-IL.C-IIL.D-1IV
A-IV.B-III.C-II.D -1

il

Options :

1908894269. 1
1908894270. 2
1908894271.3

1908894272. 4

Question Number : 44 Question Id : 1908891085 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements and choose the correct statements:
A. Almost 75 % of the grapes are consumed as fresh.

B. Almost 85 % of the grapes are used 1 wine making.

C. Grape 1s evergreen crop.

D. Centre of origin of grape 1s Armenia.

E. Maharashtra is leading producer of grapes in India.

Choose the correct answer from the options given below:

1. B.C andE only
2. B.DandE only
3. A.DandE only
4, C.D andE only

Options :

1908894273. 1
1908894274. 2
1908894275. 3

1908894276. 4

Question Number : 44 Question Id : 1908891085 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FefoTEs e #1 92

A F F Fof 3cUIGA FT oI 75 iehd # A1t Bl F & A W7 A 2|

B. 3R F T TG FT T 85 TAT MM R TeAlel H 39T 52T A 3

C. 3 HEEEN FHA |

D. 3R FT 3c9icd #g A |

E. 9 A HENISE 3T e # HA0T ]|
A for 7T oo & ¥ B 3o I

I. a7 B.CHT E
2. %39 B.DHN E
3. %30 A DHRE
4 %39 C.DHARE

Options :

1908894273. 1
1908894274. 2
1908894275. 3

1908894276. 4

Question Number : 45 Question Id : 1908891086 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: De-navelling 1s removal of male bud.

Reason R: De-navelling helps in better fruit filling and early maturity.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R is not correct

A is not correct but R 1s correct

e s

Options :

1908894277. 1
1908894278. 2
1908894279. 3

1908894280. 4

Question Number : 45 Question Id : 1908891086 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 FUF BT AT TF FOAHFYA (A) HT W F FWOT(R) FT A B

HFFUF (A): 3 - FIORT AT Fol F Ze=T &l
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1908894277. 1
1908894278. 2
1908894279. 3

1908894280. 4

Question Number : 46 Question Id : 1908891087 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements and choose the correct statements:
A. Pusa Snowball-1 1s a late variety of cauliflower.
B. Pusa Himyjvoti 1s an early variety of cauliflower.
C. Pusa Sharad 1s a mild early variety of cauliflower.
D. Pusa Deepali 1s an early variety of cauliflower.
E. Pusa Snowball KT-25 is an early variety of cauliflower.
Choose the correct answer from the options given below:
1. B.D andE only
2. A.BandC only
3

A.C and D only
4. B.C and D only

Options:

1908894281. 1
1908894282. 2
1908894283. 3
1908894284. 4

Question Number : 46 Question Id : 1908891087 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frafaf@a aat #r 9fer sk w8 F2= 7 giaw
A, JET TAET -1 e Fr gSdr e 2

B. 7@ fgm=ardr Geremmedr $r 39 e
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Options :

1908894281. 1
1908894282. 2
1908894283. 3

1908894284. 4

Question Number : 47 Question Id : 1908891088 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Variety Associated

|A. CO-7 |1 Arka Surya x Tamung-la

B. Arka Surya II. Coorg Honey Dew x CP- 85

C. Pusa Nanha II1. Sunrise Solo x Pink Flesh Sweet|
:D. Arka Prabhath |IV. Dwarf Mutant Variety

Choose the correct answer from the options given below:

1. A-ILB-TI.C-IV.D-1I

2. A-ILB-IL.C-IV.D-1I

3. A-ILB-LC-IV.D-1II

4. A-IV.B-LC-ILD-II
Options :

1908894285. 1
1908894286. 2
1908894287. 3

1908894288. 4

Question Number : 47 Question Id : 1908891088 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -1 =T -1
(&) (@)
A.CO-7 1 3T AT x F - la

B. 3T T[T 1. %31 &7 3 x CP - 85
C. T FeaT 1. §RTe=T @t x % Farer &=
D. 3 9919 Iv. i seafEas Fer

A fqr av fTFest # ¥ 9 SR T

A-ILB-IOI.C-IV.D-1
A-LB-IIILC-IV.D-II
A-II.B-L.C-IV.D-III
A-IV.B-L.C-IOI.D-1I

L

e

Options :

1908894285. 1
1908894286. 2
1908894287. 3

1908894288. 4

Question Number : 48 Question Id : 1908891089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which fruit 1s known as poor man’s apple?

Custard Apple
Ber

Guava

Pear

b

o L

Options :
1908894289. 1
1908894290. 2

1908894291. 3



1908894292. 4

Question Number : 48 Question Id : 1908891089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FE © FIEr FT T FET AT E 2

1. drareer
a7

HATFES
4. FTACTET

[ ]
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Options :

1908894289. 1
1908894290. 2
1908894291. 3

1908894292. 4

Question Number : 49 Question Id : 1908891090 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Brown heart of radish 1s caused due to which of the following?

Variation in temperature
Caleium deficiency
Boron deficiency
Delayed harvesting

| S

B

Options :

1908894293. 1
1908894294. 2
1908894295. 3

1908894296. 4



Question Number : 49 Question Id : 1908891090 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T & F34 g T o #F ¥ @ FRor g § 2

1. avAT H &Ffd=aar
2. Femaa $r FAT
3. ST T FAT

4. &0 ¥ gGars FL=

Options :

1908894293. 1
1908894294. 2
1908894295. 3

1908894296. 4

Question Number : 50 Question Id : 1908891091 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements and choose the correct statements:
A. Brinjal 1s fourth major vegetable crop of India.
B. Cabbage is third major vegetable crop of India.
C. Pea 1s a vegetable crop as well as a pulse crop.
D. In India. West Bengal 1s leading producer of cauliflower.
E. Uttar Pradesh 1s leading producer of potato in India.
Choose the correct answer from the options given below:
A.B.Cand D only
A.B. C and E only

B. C.D and E only
A.C.D andE only

bl

il



Options :

1908894297. 1
1908894298. 2
1908894299. 3

1908894300. 4

Question Number : 50 Question Id : 1908891091 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faafai@a st 1 9fer R §ar Fyar F AU
A 9T dRa Fr Tt g7 gt Il wEA

B. TeandT 9Rd FT 9l A& Hestr Il A 2
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D. T H GosdT 3cdea # Ii99H F9lmel HIol T g1

E. dd H 3ol ¢l Ao 396 HIAUT T=T F|
A QU av Beedr # ® ®Er 3caX 9 ¢

1. 9 A.B.C3R D
2. FIo A B.CHR E
3. gl B.C.DHT E
4. %9 A.C.DHIT E

Options:

1908894297. 1
1908894298. 2
1908894299. 3

1908894300. 4



Part B Biology

Section Id : 19088934
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 19088960
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891092 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If you suspect major deficiency of antibodies in a person. then which of the following would you
look for confirmatory evidence?

1. Serum albumins

2. Fibrinogen in plasma
3. Serum globulins

4. Tnglycerides

Options :

1908894301. 1
1908894302. 2
1908894303. 3

1908894304. 4

Question Number : 51 Question Id : 1908891092 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fe e @l # gfawvs $r Wi FA Aggw & a6 @ & g qfte &g
= § T @ 0

. Y oA
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Options :
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1908894301. 1
1908894302. 2
1908894303. 3
1908894304. 4

Question Number : 52 Question Id : 1908891093 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The greater is the concentration of water in a system. lower 1s its kinetic energy or
water potential.

Statement II: Pure water will have the lowest water potential.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

R N S

Options:
1908894305. 1
1908894306. 2



1908894307. 3
1908894308. 4

Question Number : 52 Question Id : 1908891093 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A FUF BT AT §

FUT - 1. 58 37 F = fr 30T I W IHE A0 FT FAST TR
QrEATATST FT FET|

FUF - I1: L€ Fol FT A ANATITS a8 FA gl £l
FFT FUAT F HAAF § FEAfared G # ¥ 9E 3o I

1. FUd [HR D3 TeT g

2. FAT 1R NEEr T E|

3. FUF 187 £. e FY 13787 €
4. FUT 13ET & FFeg F9F N FTE

Options :

1908894305. 1
1908894306. 2
1908894307. 3
1908894308. 4

Question Number : 53 Question Id : 1908891094 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: In fermentation. there 1s a net gain of 12 molecules of ATP for each molecule of
glucose degraded to pyruvie acid whereas only 2 molecules of ATP are generated under aerobic
conditions

Statement II: Fermentation account for only a partial breakdown of glucose whereas in aerobic
respiration it 1s completely degraded to CO; and HyO

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

|

o

Options :

19088943009. 1
1908894310. 2
1908894311. 3

1908894312. 4

Question Number : 53 Question Id : 1908891094 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088943009. 1
1908894310. 2
1908894311.3
1908894312. 4

Question Number : 54 Question Id : 1908891095 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: The first five reactions of glycolytic pathway convert a molecule of glucose nto 2
molecules of glyceraldehyde-3-phosphate.

Statement IT: The final product of glycolysis 1s pyruvate in aerobic settings and lactate m
anaerobic conditions.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement IT are meorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement IT 15 correct

e o b

Options :

1908894313. 1
1908894314. 2
1908894315. 3
1908894316. 4

Question Number : 54 Question Id : 1908891095 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894313. 1
1908894314. 2
1908894315. 3
1908894316. 4

Question Number : 55 Question Id : 1908891096 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II

A. Streptococeus L. Diffusion

B. Thiobacillus |II. Nitrogen fixation
C. Porins 1. Denitrification
D. Beijernickia |IV. “Clot buster”

Choose the correct answer from the options given below:

1. A-II.B-1.C-IV.D-1III
2. A-IV.B-IIIL,C-1.D-II
3. A-LB-ILC-TII.D -1V
4 A-IV.B-IIILLC-II.D-I

Options :

1908894317. 1
1908894318. 2
1908894319. 3
1908894320. 4

Question Number : 55 Question Id : 1908891096 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A-IV.B-TII.C-1.D-II
A-LB-II.C-II.D-1IV
A-IV.B-ILC-II.D-I
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Options :

1908894317. 1
1908894318. 2
1908894319. 3
1908894320. 4

Question Number : 56 Question Id : 1908891097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A section of double stranded DNA 1s composed of 41% adenine bases. What 1s the percentage of
cytosine bases i this section of DNA?

18%
9%
36%

82%

| S

Options :

1908894321. 1
1908894322. 2
1908894323. 3



1908894324. 4

Question Number : 56 Question Id : 1908891097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DNAF TH @ H 4% TREa s v s s d 90 @ a0 79 o
TR 99 $7 gidea A F 35T F:7

18%
9%
36%

82%
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Options:

1908894321. 1
1908894322. 2
1908894323. 3

1908894324. 4

Question Number : 57 Question Id : 1908891098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Exclusively marine. radially symmetrical and diploblastic organism is

Pila

Neries
Pleurobrachia
Asterias

|

oW

Options :

1908894325. 1
1908894326. 2
1908894327. 3

1908894328. 4



Question Number : 57 Question Id : 1908891098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qUiEaT AR 3T TR FUT SEPRHE S F TdT Y

Options :

1908894325. 1
1908894326. 2
1908894327. 3

1908894328. 4

Question Number : 58 Question Id : 1908891099 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ecosystem which can be easily damaged but can recover if damaging effects stop. will be
having

Low stability and high resilience
High stability and low resilience
High stability and high resilience
Low stability and low resilience

b

e

Options :

19088943209. 1
1908894330. 2
1908894331. 3

1908894332. 4

Question Number : 58 Question Id : 1908891099 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
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1908894329. 1
1908894330. 2
1908894331. 3

1908894332. 4

Question Number : 59 Question Id : 1908891100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following steps which are involved 1n cloning of foreign into plasnud vector
A Isolation of foreign DNA
B. Restriction digestion of foreign DNA and plasmid vector
C. Ligation of DNA to plasmid
D. Blue white selection
E. Transformation in cloning host
Choose the correct answer from the options given below:
. A>B>C>E=D
A>B>E>C>D

A=C=B=E=D
. A>D>E>B>C

[ e R

Options :

1908894333. 1



1908894334. 2
1908894335. 3

1908894336. 4

Question Number : 59 Question Id : 1908891100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EECRe R R E - RCIFC R I F= =R o i e - = == s o
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A>B>C>E>D
A=B=E=C>D
A=C=B>E=D
A>D>E>B>C
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Options:

1908894333. 1
1908894334. 2
1908894335. 3

1908894336. 4

Question Number : 60 Question Id : 1908891101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List I

A. Manganese [I. Pollen germination

B. Potassium [II. Chlorosis in older leaves
C. Magnesium |III. Necrosis

D. Boron IV. Photosynthesis

Choose the correct answer from the options given below:

1. A-IV.B-III.C-I.D-1I

2. A-ILB-LC-IV.D-1III

3. A-ILB-II.C-IV.D-1I

4, A-IV.B-III.C-II.D-I
Options :

1908894337. 1
1908894338. 2
1908894339. 3
1908894340. 4

Question Number : 60 Question Id : 1908891101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e Lao P

Options :

1908894337. 1
1908894338. 2
1908894339. 3
1908894340. 4

Question Number : 61 Question Id : 1908891102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements

Statement I: All organisms, from prokaryotes to the most complex eukaryotes can sense to
environmental cues.

Statement IT: Order and other higher taxonomic categories are not identified based on the
aggregates of characters. It 15 the assemblage of genes which exlubit few similar characters.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement II 1s correct

L R

=

Options :

1908894341. 1
1908894342. 2
1908894343. 3

1908894344. 4

Question Number : 61 Question Id : 1908891102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894341. 1
1908894342. 2
1908894343. 3

1908894344. 4

Question Number : 62 Question Id : 1908891103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Genes involved 1n turning on (or) off the transeription of a set of structural genes are called

1. Operator genes

2. Polymorphic genes
3. Redundant genes
4. Regulatory genes

Options :

1908894345. 1

1908894346. 2

1908894347. 3

1908894348. 4



Question Number : 62 Question Id : 1908891103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894345. 1
1908894346. 2
1908894347. 3

1908894348. 4

Question Number : 63 Question Id : 1908891104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Allopatric speciation

A. New species evolve when one (or) more population of a species becomes separated from the
other population of the species due to geographical barrier,

B. Small groups of individuals break off from the larger group and form a new species

C. Over the time, cessation of the gene flow between geographically 1solated population leads to
the reproductive isolation

D. The initial stage of allopatric speciation 1s polymorphism that does not depend on space
within a population

E. As a result of natural selection, geographically separate population become adapted to local
conditions and thus they are genetically differentiated

Choose the correet answer from the options given below:
1. A&E only
2. AE&Conly
3. AB&Donly
4. A.B.C &E only

Options :

1908894349. 1
1908894350. 2
1908894351. 3
1908894352. 4

Question Number : 63 Question Id : 1908891104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894349. 1
1908894350. 2
1908894351. 3

1908894352. 4

Question Number : 64 Question Id : 1908891105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In organ transplantations, cyclosporine A 1s used as an immune-suppressive agent which is
produced by

1. Saccharomyces cerevisiae
2. Trichoderma polysporum
3. Monascus purpureus
4. Aspergillus niger
Options :
1908894353. 1
1908894354. 2
1908894355. 3

1908894356. 4

Question Number : 64 Question Id : 1908891105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894353. 1
1908894354. 2
1908894355. 3

1908894356. 4

Question Number : 65 Question Id : 1908891106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following combination 1s related to ‘potential energy’
A. Matter has a natural tendency to move to the lowest possible state
B. A book on a table before it falls

C. A child on the floor

D. Water in a reservoir on a lnll

E. A car that is parked

Choose the correct answer from the options given below:

1. B.D & E only
2. B.C.D &E only
3. AB&Donly
4, A.B.C & E only

Options :

1908894357. 1
1908894358. 2
1908894359. 3

1908894360. 4

Question Number : 65 Question Id : 1908891106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894357. 1
1908894358. 2
1908894359. 3

1908894360. 4

Question Number : 66 Question Id : 1908891107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

A. Chitin I. Polymer of fructose
B. Lecithin  [IL. Protein

C. Collagen [III. Polysaccharide
D. Inulin IV. Phospholipid

Choose the correct answer from the options given below:

A-IIILB-II.LC-L.D-IV
A-TMB-IL.C-II.D-1IV
A-IV.B-III.C-1.D-1I
A-IIILB-IV.C-II.D-1

b

o

Options:

1908894361. 1
1908894362. 2
1908894363. 3
1908894364. 4

Question Number : 66 Question Id : 1908891107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894361. 1
1908894362. 2
1908894363. 3

1908894364. 4

Question Number : 67 Question Id : 1908891108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: In Pheretima. the body 1s comprised of three prominent regions- preclitellar.
clitellar and postelitellar segments.

Statement II: Each distinct region of the Pheretima body 1s covered by brown exoskeleton with
ventral sternites and dorsal tergites.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

|

e

Options:

1908894365. 1
1908894366. 2
1908894367. 3
1908894368. 4

Question Number : 67 Question Id : 1908891108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1908894365. 1



1908894366. 2
1908894367. 3

1908894368. 4

Question Number : 68 Question Id : 1908891109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s a wrong statement?

1. Particulate matter of the size 2.5 um (or) less can cause inflammation and damage to the
lungs

2. A lake which 1s rich 1 organic waste may result in the mortality of fishes due to lack of
OXygen

3. DDT residues are rapidly passed through food chamn because it 1s water soluble
4. Photochemical smog pollution contain ozone

Options:

19088943609. 1
1908894370. 2
1908894371.3
1908894372. 4

Question Number : 68 Question Id : 1908891109 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088943609. 1
1908894370. 2
1908894371.3

1908894372. 4

Question Number : 69 Question Id : 1908891110 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following main reactions in tricarboxylic acid cyele and arrange in order
A. Condensation
B. Dehydrogenation
C. Isomerization
D. Oxidative decarboxylation
E. Substrate level phosphorylation
Choose the correct answer from the options given below:
A=C=D>E=B
A>B>C>D>E

C>A>B>E>D
A>D>E>C>B

| i

N

Options :

1908894373. 1
1908894374. 2
1908894375. 3

1908894376. 4

Question Number : 69 Question Id : 1908891110 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894373. 1
1908894374. 2
1908894375. 3
1908894376. 4

Question Number : 70 Question Id : 1908891111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following first terrestrial plants possess xylem and phloem and have sporophyte as
a main plant body?

Selaginella
Sphagnum
Pinus

o N e

Eucalyptus

Options :

1908894377. 1



1908894378. 2
1908894379. 3

1908894380. 4

Question Number : 70 Question Id : 1908891111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908894377. 1
1908894378. 2
1908894379. 3

1908894380. 4

Question Number : 71 Question Id : 1908891112 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What would happen. if. in a gene encoding a polypeptide of 50 amino acids. 25" codon UAU is
mutated to UAA?

1. Two polypeptides of 24 and 25 amino acids will be formed

A polypeptide of 25 amino acids will be formed

LEC T ]

A polypeptide of 49 amino acids will be formed

s

A polypeptide of 24 amino acids will be formed

Options :
1908894381. 1
1908894382. 2



1908894383. 3

1908894384. 4

Question Number : 71 Question Id : 1908891112 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I TF 50 3HET TFUE F7 TANREE FF T 9 A F 253 FEE (UAU)
TANEad F I UAA ¥ Sdad 9T 47 300 7
1. 2439 25 3HET 37 F I ToraeerEs 349
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4, % 24 FAA FFA FT TNTCEE T4

Options :

1908894381. 1
1908894382. 2
1908894383. 3

1908894384. 4

Question Number : 72 Question Id : 1908891113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Characteristic features of living organisms

A. Growth 15 the defining property

B. Metabolism 1s the defining feature

C. Reproduction 1s an inclusive defining characteristic

D. Consciousness 15 the defining property

E. All living organisms are linked to one another by sharing common genetic material

Choose the correct answer from the options given below:

1. A.B&E only

2. B.D & E only

3. C.D & E only

4. A& Conly
Options :

1908894385. 1
1908894386. 2
1908894387. 3
1908894388. 4

Question Number : 72 Question Id : 1908891113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894385. 1
1908894386. 2
1908894387. 3
1908894388. 4

Question Number : 73 Question Id : 1908891114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Allergy 15 an exaggerated immune response towards antigens present in the environment. Which
of the following antibodies are produced in response to these substances?

IgE
IgA
IgM
IeG

e T b

Options :

1908894389. 1
1908894390. 2
1908894391. 3



1908894392. 4

Question Number : 73 Question Id : 1908891114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR H F9RUT Herorel! deal & e Fawem B Seqeiaor Fganar g1 3 dear

g fawa gfee 71 3o e e £
1. IgE
2. IgA
3. IeM
4. IsG
Options :

1908894389. 1
1908894390. 2
1908894391. 3
1908894392. 4

Question Number : 74 Question Id : 1908891115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Even harmful mutations do not get eliminated from the gene pool due to

1. Genetic drift

2. Higher frequency due to dominant nature

Being recessive and persisting m heterozygous condition
4. Survival value

La

Options :

1908894393. 1
1908894394. 2
1908894395. 3

1908894396. 4



Question Number : 74 Question Id : 1908891115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894393. 1
1908894394. 2
1908894395. 3

1908894396. 4

Question Number : 75 Question Id : 1908891116 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a linear chromosome map distances between four loci are —a and b =20 mu: a and d = 6 mu:
b and ¢= 8 mu: a and ¢ = 12 mu. What will be the crossover frequency between ¢ and d?

. 12%

2. 20%

3. 3%

4. 6%
Options:
1908894397. 1
1908894398. 2
1908894399. 3

1908894400. 4

Question Number : 75 Question Id : 1908891116 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 12%
2. 20%
3. 3%
4. 6%
Options:

1908894397. 1
1908894398. 2
1908894399. 3

1908894400. 4

Question Number : 76 Question Id : 1908891117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: In sympatric speciation. gene flow 1s reduced by polyploidy, sexual selection and
habitat differentiation.

Statement II: Hybrid zones, which produce offspring of mixed ancestry, are the predicted
outcome when species with incomplete reproductive barrier come into contact with one another.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement I 1s correct

| e

e b

Options:



1908894401. 1
1908894402. 2
1908894403. 3

1908894404. 4

Question Number : 76 Question Id : 1908891117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908894401. 1
1908894402. 2
1908894403. 3
1908894404. 4

Question Number : 77 Question Id : 1908891118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following DNA 15 used by Agrobacterium tumefaciens to transform normal cells
mto a tumor?

B-DNA
Z-DNA
T-DNA
A-DNA

N S

Options :

1908894405. 1
1908894406. 2
1908894407. 3

1908894408. 4

Question Number : 77 Question Id : 1908891118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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B-DNA
Z-DNA
T-DNA
A-DNA
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Options :

1908894405. 1
1908894406. 2
1908894407. 3
1908894408. 4

Question Number : 78 Question Id : 1908891119 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Rapid spasms (wild contractions) in muscles due to Ca™ in body fluid 1s called
gout disease.

Statement IT: Muscular dystrophy 1s an auto-immune disorder affecting neuromuscular junction
leading to fatigue, weakening and paralysis of skeletal muscles.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

J L b2 =

Options :

19088944009. 1
1908894410. 2
1908894411.3

1908894412. 4

Question Number : 78 Question Id : 1908891119 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088944009. 1
1908894410. 2
1908894411.3

1908894412. 4

Question Number : 79 Question Id : 1908891120 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following display female heterogamety?

1. Drosophila melanogaster

[ o]

Apis mellifera

L]

Gallus gallus domesticus

-

Periplaneta Americana

Options :
1908894413. 1
1908894414. 2

1908894415. 3



1908894416. 4

Question Number : 79 Question Id : 1908891120 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894413. 1
1908894414. 2
1908894415. 3
1908894416. 4

Question Number : 80 Question Id : 1908891121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following event occurs in acrobic respiration?

ATP  ADP

A Glucose g Glueose-6-phosphate —— 3-phosphoglycene seid —3 Phosphoenol pyruvate —— Pymuvie seid

o
d

B g g :
Pyruvie acid + COA - NAD™ > Acetyl COA+~CO,~NADH - H”
Pyruvate dehydrogenase

NAD" NADH-H-

C Glucose —» Glyceraldelyde-3-phosphate % Phosphoenol pyrwie acid —————> Pymuvic acid
D Pyruvic acid + 4NAD™ = FAD" + 2H,0 + ADP+Pi > 3CO,+ 4NADH = 4H- + FADH, + ATP

Mitochondrial Matrix
. Pyruvic acid - COA + NAD" > Acetyl COA+CO,+NADH +H-

Choose the correct answer from the options given below:

1. B.D&Eonly
2. B.C&Donly
3. B&Donly
4. B&Eonly

Options :

1908894417. 1

1908894418. 2

1908894419. 3

1908894420. 4

Question Number : 80 Question Id : 1908891121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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QIG1ad W + COA+ NAD* — 5 UICTST COA+ CO, + NADH + H*
B. T g
NAD* NADH+H*
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;. UTGRIdd 3R + COA + NAD* > TUICIIa COA +C0,+ NADH + H*

A T v fwedt & & @@ Feor T -
1. %de B.D3N E

. &ad B.CHR D

3. & BHR D

4. &adf BHAR E
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Options :

1908894417. 1
1908894418. 2
1908894419. 3
1908894420. 4

Question Number : 81 Question Id : 1908891122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to food chain.

A. Removal of 80% tigers from an area resulted 1n increased growth of vegetation.

B. Removal of most of the carnivores resulted in an inereased population of deers.

C. The length of food chain 1s generally limited to 3-4 trophic levels due to energy loss.
D. The length of food chains may vary from 2-8 trophic levels.

Choose the correct answer from the options given below:
L ABD

2. AB

3. B;E

4 €D
Options :
1908894421. 1
1908894422. 2
1908894423. 3

1908894424. 4

Question Number : 81 Question Id : 1908891122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WET YT % FA J @57 a9 F T FAA FI99 F

A BFEY 87 T 30% T FAE W TATTGAT T II9F g

B. @3t ATGRER F g ¥ ffyon $r gear 9w I
C. 51 T8 F A HUFR TET 4T 3 -4 99F T F 2 ¢

D. WET H@el 2 - 8 90T T HT & Tl gl

A9 oT av west # ¥ WEr 3o} g
1. F9F AXT D
2. FITA T B
3. I BAHT C

4. Faa cHT D



Options :

1908894421. 1
1908894422. 2
1908894423, 3

1908894424. 4

Question Number : 82 Question Id : 1908891123 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Use of readymade antibodies to protect the body against foreign agents 1s principal
characteristics of passive immunity.

Statement II: Abundant IgA antibodies in colostrum protect the infant’s body through active
MLy,

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s mcorrect
Statement I 1s incorrect but Statement II 1s correct

I N N o R

Options :

1908894425. 1
1908894426. 2
1908894427. 3

1908894428. 4

Question Number : 82 Question Id : 1908891123 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894425, 1
1908894426. 2
1908894427. 3

1908894428. 4

Question Number : 83 Question Id : 1908891124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What percentage of photosynthetically active radiation is captured by plants?

1. 2-10%
2. 50%
100%

1-2%

il o

Options:

1908894429. 1
1908894430. 2
1908894431.3
1908894432. 4



Question Number : 83 Question Id : 1908891124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TeRTel remuity Tk fafertor &7 e amer St gamr agor frar ST

1. 2-10%
2. 50%
3. 100%
4. 1-2%
Options :

1908894429. 1
1908894430. 2
1908894431. 3

1908894432. 4

Question Number : 84 Question Id : 1908891125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s wrong with respect to *biomolecules™

A, Cellulose and starch can hold I due to formation of helical secondary structures

B. Proteins transport nutrient across cell membrane and fight mfectious organisms

C. At high temperature enzymes get damaged while inorganic catalysts work efficiently

D. In animal tissue, different drugs. pigments, essential o1l, magnesum, O compounds are
noticed

E. DNA and RNA have three chemically distinet components - heterocyclic, monosaccharaides
and phosphate

Choose the correet answer from the options given below:

1. D&E only
2. A&Donly
3. A B&Donly
4. B.E&Conly

Options :
1908894433. 1

1908894434. 2



1908894435. 3

1908894436. 4

Question Number : 84 Question Id : 1908891125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT F FA A Ay

A UEIFG FUT T AR $T Eadad foe GUEAT e & HWOT FAI
T £

B. FTaFHT G190 F P Beal & THITA, WTFAT &t F go9 &
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D. 90T St # e TR F 9. HETF 39, AR JUT FFEET docd
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E.DNATIT RNAH 3 THRIf® 9 § & 917 - fewuafera, Aae+ss. vrete

& £l

A feu 7T fowet # @ W I I
. 9 DAV E
2. FId AR D
3. %3 ABHT D
4, %39 B.EHRT C

Options :

1908894433. 1
1908894434. 2
1908894435. 3

1908894436. 4

Question Number : 85 Question Id : 1908891126 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



To withstand the extreme dehydration many vertebrates enter a state known as anhydrobiosis,
Which of the following compatible osmolytes accumulate to relatively high levels and protect
the organisms against desiccation damage?

Ketoses

Trehalose
Raffinose
Stachyose

|

PR

Options :

1908894437. 1
1908894438. 2
1908894439. 3

1908894440. 4

Question Number : 85 Question Id : 1908891126 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FeaTow ey ¥ a9 & #5 FFIET ST UAEESEAed (anhaydrobiosis)

FIEM & T A9 £ AR F § FT T ATAEEIE (osmolytes) IAF MR F 3T
A A 3 1 € Y S S T €39 A 0

1. Trarg
cgag
3. TFEm
4. T

[

Options :

1908894437. 1
1908894438. 2
1908894439. 3
1908894440. 4

Question Number : 86 Question Id : 1908891127 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
A Nitrification 1. Azotobacter
B. Denmitrification I1. Nitrotobacter

C. Free living nitrogen fixation |III. Rhizobium

D. Symbiotic nitrogen fixation [IV. Pseudomonas

Choose the correct answer from the options given below:

1. A-IMI.B-IV.C-II.D-1I
2. A-ILB-I,C-IV,D-1III
3. A-IIL.B-IV.C-L.D-III
4, A-IV.B-II.C-III.D-I

Options :

1908894441. 1
1908894442. 2
1908894443, 3

1908894444. 4

Question Number : 86 Question Id : 1908891127 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 1 o -
A, ATESIRR IRYCICCory
B. [aaTsdiirraa I1. AT dFeT
C. {Fd - A& AT iR 111 T TH
D. T e AT V. FIETRATH
A f§T aIv faFedt # ¥ e 3eaw q=AT
1, AcHL BTV, €1 Dsl
2 A-IB-1.C-IV D-M
3 A-ILB-W.C-1.D-M
4, AsIV. BeIL C<I D=1
Options :

1908894441. 1
1908894442. 2
1908894443. 3

1908894444. 4

Question Number : 87 Question Id : 1908891128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a particular chromosome. the recombination frequency between genesa & c1s 5%: b & ¢ 1s
15%: b & d1s9%: a & b1s 20%: ¢ & d is 24% and a & d 15 29%. The sequence of genes in
chromosome 1

a.d.b.c
d.b.ac
a.b.c.d

a.c.b.d

e o B2 —

Options :
1908894445. 1
1908894446. 2

1908894447. 3



1908894448. 4

Question Number : 87 Question Id : 1908891128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T TUET T AT a. b, c. d BT TREINF HATA HGfed a T ¢ 5%: bFAT ¢ 15%: b
AT d 9%: a T b 20%: c FAT d 24% TUT a AT 4 29%. ¢ A &1 Sl 7 UHT W FA
e g

a.dbec
d.b.ac

a.b.c.d
a.c.bd

b

s

Options :

1908894445. 1
1908894446. 2
1908894447. 3
1908894448. 4

Question Number : 88 Question Id : 1908891129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the sequence of mRNA transcribed from the below DNA?

3' - ATCCCAGGTACCAT - ¥

Laa

'~ UAGGGUCCAUGGUA - ¥’
5" - UAGGGUCCAUGGUA - ¥’
'~ TAGGGTCCATGGTA - §°
5" - TAGGGTCCATGGTA - ¥

e
A e LN

Options :
1908894449. 1

1908894450. 2



1908894451. 3
1908894452. 4

Question Number : 88 Question Id : 1908891129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
75 DNA ¥ Helolf@d mRNA HToll FT T FY

3= ATCCOCAGGTACCAT — 5

1. 3'-UAGGGUCCAUGGUA - §°

2. 5 -UAGGGUCCAUGGUA - 3

3. 3’ =TAGGGTCCATGGTA — ¥

4. 5" —-TAGGGTCCATGGTA - 3°
Options :

1908894449. 1
1908894450. 2
1908894451. 3

1908894452. 4

Question Number : 89 Question Id : 1908891130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What will happen to the population of two forms of Biston betularia (peppered moth) mhabiting
the region polluted due to emission of soot from industries?

A. Population of dark colored moth will increase

B. Population of both the forms will decrease

C. Population of light colored moth will increase

D. Population of dark colored moth will increase while population of light colored moth will
decrease

E. Population of both the forms will ncrease

Choose the correct answer from the options given below:

. A&Donly
C.D & E only
C&D only
. B.C&Donly

b —

ot



Options :

1908894453. 1
1908894454, 2
1908894455, 3
1908894456. 4

Question Number : 89 Question Id : 1908891130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894453. 1
1908894454. 2
1908894455. 3

1908894456. 4



Question Number : 90 Question Id : 1908891131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Competition for light. nutrients and space is most severe between

1. Closely related organisms growing in the same niche

2. Closely related organisms growing in the different niche
Distantly related organisms growing in the same habitat
Distantly related organisms growing in the different niches

e

Options :

1908894457. 1
1908894458. 2
1908894459. 3

1908894460. 4

Question Number : 90 Question Id : 1908891131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THIN TOF decal AT T F O Gaw EF vy 5 & 7eg g

. TF T ¥ §afoT &9 0% & ¥ A
2. UF T ¥ gatuq die fafde smemar &
3. U% Y ¥ wHET 9 oF & e A
4. % gEY ¥ HEEMUT e fafdes smardt #

Options :

1908894457. 1
1908894458. 2
1908894459. 3

1908894460. 4

Question Number : 91 Question Id : 1908891132 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I; In photosynthesis, the membrane system 1s responsible for the synthesis of ATP
and NADH 1n carbon reaction.

Statement II: In photosynthesis. enzymatic reactions synthesize sugar and which in turn form
starch. These reactions are driven by light.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement IT 15 correct
Options :
1908894461. 1
1908894462. 2
1908894463. 3

1908894464. 4

Question Number : 91 Question Id : 1908891132 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A FUT rav d
FIA - 1 THIT TSV Faef 5 # Freal 77 ATP, NADPH F ToW0T # Tgrdh
¢l

FYT - 11 THIYT T & TAZH RRaT 9T T Feow0T 3t 21 e =i aaan
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2. FYF 13X 1gH 700 £
3. FUF 18T ¢, e 97 13T €
4. FUF 130A ¢ =g 97 0187 £

Options :

1908894461. 1



1908894462. 2
1908894463. 3

1908894464. 4

Question Number : 92 Question Id : 1908891133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

While studying the population of rat i a warchouse. you found that average natality was 250.
average mortality was 240, immigration was 20 and emigration was 30. What will be the net
increase in rat population?

I
2. Zero
3. 10
4 5
Options:
1908894465. 1
1908894466. 2
1908894467. 3

1908894468. 4

Question Number : 92 Question Id : 1908891133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894465. 1



1908894466. 2
1908894467. 3

1908894468. 4

Question Number : 93 Question Id : 1908891134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Genetic drift operates in

1. Small 1solated population
2. Fast reproductive population
3. Large 1solated population
4. Slow reproductive population
Options:
1908894469. 1
1908894470. 2
1908894471. 3

1908894472. 4

Question Number : 93 Question Id : 1908891134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908894469. 1
1908894470. 2

1908894471. 3



1908894472. 4

Question Number : 94 Question Id : 1908891135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vernalisation

A. Enables the plant to have sufficient time to reach maturity

B. Depends not only on a combination of light but also their relative duration

C. Prevents precocious reproductive development late in the growing season

D. Refers specially to the promotion of flowering by a period of low temperature
E. Phenomenon occurs by changing light and temperature

Choose the correct answer from the options given below:

A.C&Eonly
A C.D&E only
A.B.C&D only
A.C&Donly

[

e o

Options:

1908894473. 1
1908894474. 2
1908894475. 3
1908894476. 4

Question Number : 94 Question Id : 1908891135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894473. 1
1908894474. 2
1908894475. 3

1908894476. 4

Question Number : 95 Question Id : 1908891136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At a particular locus, frequency of “A” allele 1s 0.6 and that of “a” 15 0.4. What would be the
frequency of heterozygotes in a random mating population at equilibrium?

0.36
0.16
0.24
0.48

b

. b

Options :

1908894477. 1



1908894478. 2
1908894479. 3

1908894480. 4

Question Number : 95 Question Id : 1908891136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T W T T Talie " $ 3gfed 0.68 F97 Taled " &7 313fed 04 81 oy
TAREA F W # & T 1 T Fal Jaaed # Fengenst # 3qfed
T 0

0.36
0.16
0.24
0.48

e

e b

Options:

1908894477. 1
1908894478. 2
1908894479. 3

1908894480. 4

Question Number : 96 Question Id : 1908891137 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT
A, Bilaterally symmetrical. triploblastic. acoclomate animal with flame

cells 1. Limulus

B. Bilaterally symmetrical animal with calcareous shell and mantle cavity [II. Pleurobrachia

C. Radally symmetrical animal with ciliated comb plates and exclusively [III. Fasciola
marine hepatica

D. Bilaterally symmetrical. triploblastic. coelomate animals with chitinous

IV. Dentalium
exoskeleton

Choose the correct answer from the options given below:

1. A-ILB-IV.C-IIL.D-II
2. A-IV.B-IL.C-TIL.D-I
3. A-IILB-IV.C-II.D-I
4 A-NLB-IV.C-LD-II

Options :

1908894481. 1
1908894482. 2
1908894483. 3

1908894484. 4

Question Number : 96 Question Id : 1908891137 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3. A-ILB-IV.C-ILD-I

4. A-ILB-IV.C-LD-II

Options :

1908894481. 1
1908894482. 2
1908894483. 3

1908894484. 4

Question Number : 97 Question Id : 1908891138 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The eye of octopus and eye of dog show different structural patterns, yet they perform similar
functions. This 15 an example of

Analogous organs that have evolved due to divergent evolution
Homologous organs that have evolved due to convergent evolution
Homologous organs that have evolved due to adaptive radiation
Analogous organs that have evolved due to convergent evolution

|
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Options :

1908894485. 1
1908894486. 2
1908894487. 3

1908894488. 4

Question Number : 97 Question Id : 1908891138 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894485. 1
1908894486. 2
1908894487. 3

1908894488. 4

Question Number : 98 Question Id : 1908891139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: On the basis of their chemical nature, hormones can be divided into group.

1. Peptide. Polypeptide. protein hormones
. Steroids
1. Iodothyromines
v.  Amino acid dervates

Statement II: Underproduction of hormones by adrenal cortex alters carbohydrate metabolism
causing acute weakness and fatigue leading to disease called diabetes mellitus.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

el bl

s

Options :

19088944809. 1
1908894490. 2
1908894491. 3

1908894492. 4

Question Number : 98 Question Id : 1908891139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FIF BT AT
FUS - 1: TWHEH T F X T @A F e 7 F i a1 1 T
¥
i, JTETEE. TTeieeres. e FAta
ii. TR
if, HTSHTATBAAT
iv. HHA - FFT HANE
FUT - 1. T30 FIEFT AN FH FAT 3097 F § FHIEE5e 39997 TAS
2l € (0¥ 3edd FAA. & @ ¥ ST Holged A T 21 £
sTdFa wU & WA & ratared Red 8§ T W
| Fu 13ROt 7er &
2. ®UF 13X ngEt o £

3. 7T 19T £ fFeg F9F 13T €

4. FUA 13787 ¢ fFeg F99 1FTE)

Options :

19088944809. 1
1908894490. 2
1908894491. 3

1908894492. 4

Question Number : 99 Question Id : 1908891140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Steps involved in catalytic cycle of enzyme action

A. Release of products of the reaction

B. Binding of substrate to the active site of enzyme
C. Formation of enzyme substrate complex

D. Alteration in the shape of enzyme

E. Enzyme free to bind another molecule of substrate

Choose the correct answer from the options given below:
1. B=C=D=AE
2. B=D>C>A>E

B>D>A>E>C

B=E=D>(C=A

o R

Options :

1908894493, 1
1908894494. 2
1908894495. 3

1908894496. 4

Question Number : 99 Question Id : 1908891140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. B=C=D>A>E

2. B>D>C>A>E

3. B>D=A=E>C

4. B=E=D=C=A
Options :

1908894493. 1
1908894494, 2
1908894495. 3

1908894496. 4

Question Number : 100 Question Id : 1908891141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following combination 1s correct in relation to ‘natural selection’?

A. Individuals with mnherited traits that are best suited to the local environment

B. Over many generations, a higher proportion of individuals in a population will have the
advantageous traits

C. Individuals in a population vary in their traits

D. Competition 1s inevitable

E. Evolution occurs as the unequal reproductive success of individuals adapt the population to its
environment

Choose the correct answer from the options given below:

. B. |
2. AB.C&Donly

3. C.D&E only
4. AB.C.D&Eonly

Options :

1908894497. 1
1908894498. 2
1908894499. 3

1908894500. 4

Question Number : 100 Question Id : 1908891141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ST T % w A e E
A SiE & 0T F T S wEeE O i Femy A g

B. e HaATedl % ST JAREA F a8 AW F Sal # qHF 07 F9(8AF 29
C.FAHEI # 519 0l T # {3 07 4RO T 7 €

D. TUY HIIE

E. STEHE # TFa sal $ HOA Tofeld Thodl FA0Ed # TR0 # Hegod
AT+ £

A R e Ret # ¥ R

. ¥ B.CHT D
. #9d A.B.CHRT D

. FTTC.DHTE
4, A.B.C.DHRE

[

LF %)

Options :

1908894497. 1
1908894498. 2
1908894499. 3

1908894500. 4

Part C Chemistry

Section Id : 19088935
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 19088961
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monomeric units used in the synthesis of Dacron are:

Melamine and formaldehyde

Ethylene glycol and phthalic acid
Ethylene glycol and terephthalic acid
Hexamethylenediamine and adipic acid

b

B

Options :

1908894501. 1
1908894502. 2
1908894503. 3

1908894504. 4

Question Number : 101 Question Id : 1908891142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TH A F HOWUT H UFoldh SHEAT 2iar &

1. HolHAT 3T wrfeegEe
2. TR TeEHAS HT Ao 3
3. T TSRS HT SIFATREE e

4. TFETATINFSESUAT HT TSITF 35

Options :

1908894501. 1



1908894502. 2
1908894503. 3

1908894504. 4

Question Number : 102 Question Id : 1908891143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Aspartame is a methyl ester formed from aspartic acid and alanine.

Statement II: Use of aspartame 1s limited to cold foods and soft drinks because it 1s unstable at
cooking temperatures.

In light of the above statements, choose the eorrect answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement II 15 false
Statement I 1s false but Statement II 15 true

[ e R

Options :

1908894505. 1
1908894506. 2
1908894507. 3

1908894508. 4

Question Number : 102 Question Id : 1908891143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FYF RUaw §
FUF - 1: CEUER UF A TR § A WIRF 3+ iR VAT § & gl

FYF - 11 : VENER T 3901 Faol 33 W Terdt 3R 97 weret 7 & @ &
FiiS T W TFW F A9AR T 3T g gl

Tl e & 3o 2 AR R & ¥ W e T

. &Y 13R 13+ gl
2. FUF 13K g1 e
. FUA 16 § . T et 119700 § |
FUT IH ch?.i'&w@@ﬂﬂ?ﬁ%l

[E—

=

L

=

Options:

1908894505. 1
1908894506. 2
1908894507. 3
1908894508. 4

Question Number : 103 Question Id : 1908891144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

1 eq CH4OH / Dry HCI
CH_—;CH_—;CI‘,HCHD o

CHs

The number of chiral carbon(s) in product A 1s:

L O
b = O

-t
s

Options :
1908894509. 1
1908894510. 2



1908894511. 3

1908894512. 4

Question Number : 103 Question Id : 1908891144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArfat@a & o5 ke 7

1 eq. CH,OH / Dry HCI
CH3CH2CHCHO -

CHa

3cqTE 'A' H FISTd Fed G TE&AT §

1: 1
2. 4
o 2
4. 3
Options :

1908894509. 1
1908894510. 2
1908894511. 3
1908894512. 4

Question Number : 104 Question Id : 1908891145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction, the hybridization of carbon bonded to oxygen changes from:

®
H
. CHa CN ——= HaC .
H;C/\Q’/\._.H_ + CN o P
1. spl to 5133
2 sp to sp”
3. sp tosp
4. 5133 to spl

Options:



1908894513. 1
1908894514. 2
1908894515. 3

1908894516. 4

Question Number : 104 Question Id : 1908891145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 1 AfARRAT A IFHST ¥ T3 FEA F FFOT IRACAT Bl &

1. spl q 5p3
sp I spl
spj Hsp
5133 q spl

ey Laa | ]

Options :

1908894513. 1
1908894514. 2
1908894515. 3

1908894516. 4

Question Number : 105 Question Id : 1908891146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An alkene ‘A’ on ozonolysis gives a mixture of 1 mole of glyoxal and 2 moles of eyclohexanone
AT s

O
i HH
<:>:C-CHD

H

H;
C>—C-GHO

Hy
<C:j}~c-CHo

Options :

[

4.

1908894517. 1
1908894518. 2
1908894519. 3

1908894520. 4

Question Number : 105 Question Id : 1908891146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FAATIET W TF Vodd 'A' | A TABSHEEA T 2 AT ASFeFaaia &
fBaor vl A Bl

Options :
1908894517. 1

1908894518. 2



1908894519. 3
1908894520. 4

Question Number : 106 Question Id : 1908891147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Dihedral angle between the hydroxyl and amino groups of the most stable conformation in
2-aminoethanol 1s:

I:II}
60°
180°
120°

Fed

e

Options :

1908894521. 1
1908894522. 2
1908894523. 3

1908894524. 4

Question Number : 106 Question Id : 1908891147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2-UAATIATS F TaW ST FUTE G0 A FEEieae AN ofEar gHg § A
fade 0T §

DD
60°
180°
120°

e L b

Options :

1908894521. 1
1908894522, 2
1908894523. 3

1908894524. 4



Question Number : 107 Question Id : 1908891148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For. a - column chromatography: b - paper chromatography and ¢ - thin layer chromatography.
which of the options 1s type of partition chromatography?

a and b only
b and ¢ only
b only
¢ only

I N L S R

Options :

1908894525. 1
1908894526. 2
1908894527. 3

1908894528. 4

Question Number : 107 Question Id : 1908891148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a- ITH FJUOIET: b- FTH JUE: c- Tdal 9T JoTarEeT

FiT @1 faFeq fFaor aveEa FTIFR §

1. T a AT b

2. FIAT b AT ¢

3. &doT b

4. Fgel ¢
Options:

1908894525. 1
1908894526. 2
1908894527. 3
1908894528. 4



Question Number : 108 Question Id : 1908891149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct option for number of sigma and p1 bonds respectively in the given organic
compound:

CN
cu—uc’@/

CHO

15 sigma and 6 p1 bonds
18 sigma and 6 p1 bonds
18 sigma and 3 p1 bonds
15 sigma and 3 p1 bonds

|

s e

Options :

1908894529. 1
1908894530. 2
1908894531. 3
1908894532. 4

Question Number : 108 Question Id : 1908891149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T v FefEs diTF § FA e 31X o8 eyt & 9T & v 98 e
el

=

CN
ClH2C ;

CHO

1. 15 R 3R 6 U5 3y
2. 18 e 3R 6 ey
3. 18 @A 3R 3OS ey
4. 15 Tar R 3915 ey

Options :



1908894529. 1
1908894530. 2
1908894531. 3

1908894532. 4

Question Number : 109 Question Id : 1908891150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the structure of the nucleoside given below:

Ha

d

N
fﬂ”“

N ’i““‘o
HO

0
HO W OH

The attachment of phosphoric acid to which of the labeled position would lead to the formation
of a nueleotide?

a and b only
¢ only
3. donly
4. ¢only

[ pye—

Options:

1908894533. 1
1908894534. 2
1908894535. 3

1908894536. 4

Question Number : 109 Question Id : 1908891150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A & 3 FYFeraraTSs H WE A

d
NH

e =N

|N!-L“‘-D

HO

!.: e
HO CH

BRI 370 & 0 e 1 Rl @ J3a F ~yfFeriess #1 Ao gem

1. &ad a AT b
. &ad ¢
. &dd d
4. HIA ¢

Options :

[ ]

L

1908894533. 1
1908894534. 2
1908894535. 3

1908894536. 4

Question Number : 110 Question Id : 1908891151 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the FALSE statement for “Valine'.

1. It has an isopropyl group as a side chain.

2. Tt exists as dipolar 10n in water.

3. It1s a non-essential amino acid.

4. Tt 1s an optically active compound.
Options :

1908894537. 1
1908894538. 2
1908894539. 3

1908894540. 4

: MCQ Option Shuffling : No



Question Number : 110 Question Id : 1908891151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol F oI el FUT I ¢

1. STHN TTeT Y@ F HEESITS THE £
. TE FA H IEYT HAT F & H EA £

| ]

3. IE UF ¥NAETF UHAT HF7 g1
4. TE TF TH1A ThT JEF F
Options:

1908894537. 1
1908894538. 2
1908894539. 3
1908894540. 4

Question Number : 111 Question Id : 1908891152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Acetic acid 1s more acidic than phenol.
Reason R: Acetate 1on 1s more stable than phenoxide on.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A is not correct but R is correct

e o B —

Options :
1908894541. 1

1908894542. 2



1908894543. 3
1908894544. 4

Question Number : 111 Question Id : 1908891152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A FYF U AT 0F F AEAA (4) AR g A TF (R) FET A g
FfAFUa (A): RS 3vd Whld § ST 3FT &

aF (R): TACT I FTFATSS 3T 1 H9eT ST TS AN £

SHIFT FYA! F e A fIrnfea fwedt # F T IR o

. (A) 3R (R) T TET § AR (R). (A) T TEr TEAT £

(4) AR (R) ST TG § o] (R). (A) T T SAEA 7@ ¢
. (A)WE § W] (R) TET AL B

. (A)TE T & Wed (R) T &

Options :

o Laa | ] fa—

1908894541. 1
1908894542. 2
1908894543. 3
1908894544. 4

Question Number : 112 Question Id : 1908891153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT
List I List I1

Structural Formula Name

OH 1. Catechol

II. Resorcinol

' =
0| O

B OH
OH
@\ 1. Hydroquinone
"B OH
OH
Iij/% IV. 0-Cresol
D.

Choose the correct answer from the options given below:

A-I. B-III. C-II. D-IV
A-III B-I. C-II. D-IV
A-IIIL B-1. C-IV. D-II
A-IL B-III. C-IV. D-II

b =

g

Options :

1908894545. 1
1908894546. 2
1908894547. 3
1908894548. 4

Question Number : 112 Question Id : 1908891153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@-I&#ﬂﬁ-ﬂ#ﬁﬁﬁﬁﬁﬁv:

List I List II
TTATHS A ATH

OH
OH I &earer
A
| OH
11. R
B. OH
. on

@\ INMSSESIECGIG
c. OH

OH
@ﬁ“ﬂ IV. o-forarel
D.

A RT T faedt # @ A8 3ok gEAT

A-1. B-III. C-II. D-IV
A-III, B-1. C-I1. D-IV
A-III. B-1. C-IV. D-II
A-1, B-III. C-IV. D-II

LV S

B

Options :

1908894545. 1
1908894546. 2
1908894547. 3

1908894548. 4

Question Number : 113 Question Id : 1908891154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following haloalkane has least reactivity with aqueous KOH?

.’f\w’i-
e i
I
Br
4. ,/'\\/’I\
Options :
1908894549. 1
1908894550. 2

1908894551. 3

1908894552. 4

Question Number : 113 Question Id : 1908891154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FArafai@d geivedar # ¥ radr Tranfredr Soilg KOH® §ed &7 § 2

| ]

Cl
I
Br
Options :
1908894549. 1
1908894550. 2

1908894551. 3

1908894552. 4



Question Number : 114 Question Id : 1908891155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of chiral carbons/centers in f-D-ribose are:

Three
Four
Five
Two

| S

o

Options :

1908894553. 1
1908894554. 2
1908894555. 3

1908894556. 4

Question Number : 114 Question Id : 1908891155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-DIBAE #H FoT FISTA FIaall/deal H AT gl

1. dreT
2. O
urg

i

4. a
Options :
1908894553. 1
1908894554, 2
1908894555. 3

1908894556. 4

Question Number : 115 Question Id : 1908891156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct option for the structures of acrolein and peroxyacetylnitrate are respectively:

1. CHy=CHCHO and CH;COONO;
H,C-C-00NO;
CH=CHCHOand O
CH3CH,CHO and CH;COONO»
H;C~C-00NO,
CHCH-CHO and 0

L b

Options :

1908894557. 1
1908894558. 2
1908894559. 3

1908894560. 4

Question Number : 115 Question Id : 1908891156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wi 3R RIFaeHifcaasee f WO & fov Faer: @ @weT # 9 .

1. CH;=CHCHO and CH;COONO,

HsC—C-OONO;

CH,=CHCHO O
’ HR

3. CH;CH,CHO 3R CH;COONO;
H,C~-C~-00NO;

4. CHyCH,CHO 3R 0

[ ]

Options:

1908894557. 1
1908894558. 2
1908894559. 3

1908894560. 4

Question Number : 116 Question Id : 1908891157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

NH NH.- NH- NH

2 2 2
@ HNOs + HaSO, @ @ND:
- + +
16 °C MO
NO.
(51%) (47%) (2%:)

Significant amount of meta-isomer forms because:

1. —NHo group 1s ortho-, para- and meta-director.

2. Anilinium ions are formed during the reaction.

3. There 1s less stearic hindrance at meta-position.

4. Low temperature increases the amount of meta-isomer.
Options :

1908894561. 1
1908894562. 2
1908894563. 3

1908894564. 4

Question Number : 116 Question Id : 1908891157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArfaf@a sk 7.

NH. NH NH NH.
HNOs + HaSO, NGy
- + +
1070 NO-
NO.
(51%) (479%) (2%)

HT-FATGIS & AEcaqoT ATAT Selalm &, FAMF ¢

1. -NH, g 3t - 1 3R e @l w9 g £l
2. HfaAfF & ehe AT 3mae a9 &
3. HAo-RYufa # R atr &3 grdr gl

4. FH A9 AST-GATGIG ST AT TeTam &



Options :

1908894561. 1
1908894562. 2
1908894563. 3
1908894564. 4

Question Number : 117 Question Id : 1908891158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the given reactions will yield amine as a product with less number of carbon than the

reactant?

ano
A
0 .
O st
B. 0
0
=\ Br, + NaOH
" \ 'l/ E'”H‘_ i
C.
OC;M Hai -
D.
1. Aonly
2. Band C only
3. CandD only
4. Conly
Options :

1908894565. 1
1908894566. 2
1908894567. 3
1908894568. 4

Question Number : 117 Question Id

: 1908891158 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rafafEa & 1 3T A e 3t & 3fens & e 79 Fe9 #7
VA 3cUIg ST gem 2

7{P
o2
Ethanol

A
0
-t —o
B. - 187
0 A
<::}—E—HH3 Br, + NaOH "
C.
0
@—E—HH; Brp+ NaOH
D.
1. &gd A
). FaT BAR ¢
3. Fad CHR D
4, Fad C
Options :

1908894565. 1
1908894566. 2
1908894567. 3

1908894568. 4

Question Number : 118 Question Id : 1908891159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

: AR L :
Statement I: 1" ionization enthalpy of Zn is higher than Cu.
Statement I1: 2™ fonization enthalpy of Zn is lower than Cu.

In light of the above statements. choose the most apprepriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

| =

.

Options :

19088945609. 1
1908894570. 2
1908894571. 3

1908894572. 4

Question Number : 118 Question Id : 1908891159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S g wua fT aw §

FAT - 1: Zn FT TUF JTTA T=Idr Cu § ST 2T &

FUT - 11 : Zon FT ST 31007 =l cCu T F7 g4 £

3UUFT FAAT F W@ F FAtaad FEea F ¥ w9 3w g9

[

. FUF 131 naEr w8 g

FUF 13X 1A T &

FUF 1T 8. fFeq F I 30T
. FYT 17T 2. =g FUT LT E

| ]

Faa

e

Options :
1908894569. 1
1908894570. 2



1908894571. 3
1908894572. 4

Question Number : 119 Question Id : 1908891160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Fluorine oxidises water to oxygen.
Statement IT: Chlorine reacts with water to form hydrochloric acid.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

b i

e

Options :

1908894573. 1
1908894574. 2
1908894575. 3

1908894576. 4

Question Number : 119 Question Id : 1908891160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A=rar Fug R v £
FUF - 1 TN T FT A FHGH F A FEF FT 2

FUAT - I1: FoIT AT T ATATFAT F3F FT=SFaAF 347 &1 ¢

39YFd FAAT F e 7 FEafaf@s e # ¥ 5 3o 9+

1. FUT 13T D& T2 £
FUA [T AT T 2
FUA 18T €. g Fu9 09T B
4. FUT 1779 g, fheg FUT LT £

[ ]

L]

Options :

1908894573. 1
1908894574. 2
1908894575. 3

1908894576. 4

Question Number : 120 Question Id : 1908891161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following options related to sulphuric acid is incorrect?

Highly volatile

Strong acid

High affimty for water
Oxidising agent

b

e

Options :

1908894577. 1
1908894578. 2
1908894579. 3

1908894580. 4

Question Number : 120 Question Id : 1908891161 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e fFFedl # @ o R 37w F T i & foFeT 7oa € 2

1. F==1 areqefter

2. 9deT HFA
3. oo ¥ for = FHar
4. HFUFNF

Options :

1908894577. 1
1908894578. 2
1908894579. 3

1908894580. 4

Question Number : 121 Question Id : 1908891162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thermal decomposition of ammonium dichromate gives

Ni. Cry0; only

N», H,0. Cr,05 only

Na. CrOs only
Na. HyO. CrO; only

| S

L

Options :

1908894581. 1
1908894582. 2
1908894583. 3

1908894584. 4

Question Number : 121 Question Id : 1908891162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HATATH ST F adig 3vged o Aerar § -

1. &del N2 3R CnOs:
. &g N,, H,0 3R Cr,05
. Fad Np 3 Cr0;
4. FFA Ny Ho0 3T CrOs

[ ]

Lrw)

Options :

1908894581. 1
1908894582. 2
1908894583. 3

1908894584. 4

Question Number : 122 Question Id : 1908891163 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Limestone 15 added as a flux to oxidise Si and P 1n blast furnace for extraction of
irom.

Statement II: The given reaction is a step in the extraction of iron occurs at high temperature
(900-1500K) 1n blast furnace.

3Fe;03 + (0 —— = JFe;s04 + CO;

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

I

Options :
1908894585. 1
1908894586. 2

1908894587. 3

:No



1908894588. 4

Question Number : 122 Question Id : 1908891163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT & Fua R aw §

FUA - 1:701g & ASHIOT H aeam 21 A Si AR P F G A & forw o
TR & MeF & T H 36 S g

FUA - 11 81 975 HTAFRAT arear 987 & 3T a9 (900-1500K) W 3RRA & fosamyor
H TF FeH £l

3Fe,03 + CO ———w» 2Fes04 + CO,

I FYAT & HeF A Fefafld Awed F @ 78 s’ g4
. FUA 13K ndEr @ &l

2. U 13T ngEr o g

. YA 1WA 8. ] F9 e B
. &Y 19700 8. e YT I B

[

-

gt

Options :

1908894585. 1
1908894586. 2
1908894587. 3

1908894588. 4

Question Number : 123 Question Id : 1908891164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Compound 'X' 1s a white crystalline solid of boron with soapy touch. 'X'1s

Borox
Orthoboric acid
Boric oxide
Diborane

b ik

ot

Options :

19088945809. 1
1908894590. 2
1908894591. 3
1908894592. 4

Question Number : 123 Question Id : 1908891164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i X g F T & WY I 7 0w eeerd o gl AffEm X
d

1. aNFd
. IR 3Fe
3. SIN® Heass
4. STEEANA

Options :

| ]

1908894589. 1
1908894590. 2
1908894591. 3

1908894592. 4

Question Number : 124 Question Id : 1908891165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Cement clinker 1s mixed with X % of gypsum by weight to form cement, X' 1s

22-24%
15-16%
7-9%

2-3%

a =

N

Options :

1908894593. 1
1908894594, 2
1908894595. 3

1908894596. 4

Question Number : 124 Question Id : 1908891165 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

He e #1399 F FER X % Teaw  wry e g 9 a9 gl ox
_®

22-24%
15-16%
7-9%

2-3%

|

i

Options :

1908894593. 1
1908894594. 2
1908894595. 3

1908894596. 4

Question Number : 125 Question Id : 1908891166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Lithium halides are generally covalent 1n nature.
Reason R: Lithium 1on has high polarization capability.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A is not correct but R 1s correct

b =t

i

Options :

1908894597. 1
1908894598. 2
1908894599. 3

1908894600. 4

Question Number : 125 Question Id : 1908891166 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A o 94 fGU 0 § ; 0F 7 3FUA (A) 3R A F FROT (R) FET I §

HHFU (A) : RTA Fomes AT wEEe T & A E
FNOT (R) : oy et 1 39 diaor & gl 2
IHFT FYA F e A e OFed 7 ¥ qEr IR I

- (A) 3R ()3T TE € 3R (R). (A) Fr TE TE g
(A) 3R (R) ST T & T (R). (A) FT LT cATET AT B
. (A) T & W] (R) TE TG &

(A) 8T 78 § W (R) R B

e LIFF] | ] —

Options :

1908894597. 1



1908894598. 2
1908894599. 3

1908894600. 4

Question Number : 126 Question Id : 1908891167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following reactions:

catalyst/
y - =

2H) @) + 02 ®) ~oaring 2H,0 (I): AH” =X

3H, (g) + Ny (p) —sk2002® m  ONH; (g); AH® =Y

The values of X and Y are respectively

+ve and +ve
-ve and +ve
+ve and -ve
-ve and -ve

b

]

Options:

1908894601. 1
1908894602. 2
1908894603. 3

1908894604. 4

Question Number : 126 Question Id : 1908891167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



IGEEICITCEECIEIE I e g

catalyst/
2H, ® + 01 ® ~eating 2H,0 (1): AH® =X
3H, (g) + N, (g) ——Cr2002 g ONH; (g); AH® =Y
X 3R Y & AT FHA gl

1. YdATcHE 3R 4aATcHS
FHOMHF 3T UaATcAS
. YATeHE 3T HOMcHAS
4. FHOMcHAF AR FHOMcHF

[ ]

%]

Options :

1908894601. 1
1908894602. 2
1908894603. 3

1908894604. 4

Question Number : 127 Question Id : 1908891168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pb;0, + SHCI > 3PbCl, + Cl, + 4H,0

In the given reaction. oxidant (Q) and reductant (R) are respectively

1. O=PbO.R=CI
2. 0=Pb0, R=PbO
0 = PbO, R = PbO,
O =PbO. R=CT

ek |

Options :

1908894605. 1
1908894606. 2
1908894607. 3

1908894608. 4



Question Number : 127 Question Id : 1908891168 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pb;0, + SHCI = 3PbCl, + Cl, + 4H,0

ar a8 AATRT A JFHFRE (0) AR ITI™IF (R) FHAA: ¢

O=PbO.R=CI
O =Pb0O,. R =PbO
O =PbO, R=PbO
O=Pb0O:. R=CT

| S

B

Options :

1908894605. 1
1908894606. 2
1908894607. 3

1908894608. 4

Question Number : 128 Question Id : 1908891169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: The lattice enthalpy of NaCl (g) is 788 kJ mol™.

Statement II: 788 kT of energy 15 required to separate one mole of gaseous NaCl mnto one mole
of Na™ (g) and 1 mole of CI (g).

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement IT 1s correct

b

e e

Options :

1908894609. 1



1908894610. 2
1908894611. 3

1908894612. 4

Question Number : 128 Question Id : 1908891169 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g wua T A

FUA - [: NaCl () T F1o T4 788 kI mol” §

FUF - [1: TF Al FET NaCl F. TF AT Na'(g) 3T 0F AT Cl (o) F Ho9T T F
forr 788 k1 F= i HIeTFAT B 2

39T FUA F HAE A fawfafea GFe # ¥ ' 5o o

I FY 13T D3& T &
2. FUF 13T ngE 79 £
3. FUA 198 2. e FUa 170 21
4. FY 1770 . e Fu7 T 21
Options :
1908894609. 1
1908894610. 2
1908894611. 3

1908894612. 4

Question Number : 129 Question Id : 1908891170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In Mendeleev’s periodic table. number of series and groups are X and Y. respectively. X and Y
are

1. X=12.Y=9
2. X=8.Y=9
3. X=8,Y=8
4. X=12.Y=8
Options :

1908894613. 1
1908894614. 2
1908894615. 3
1908894616. 4

Question Number : 129 Question Id : 1908891170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Feelg $T T GO F E4AT T A7 T T FAC XHT VE XHR Vv E

B e N o
¥ P
1]
[ a]

Options :

1908894613. 1
1908894614. 2
1908894615. 3
1908894616. 4

Question Number : 130 Question Id : 1908891171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Robert Bunsen used line spectra to 1dentify elements.

Statement II: The emission spectra of atom in the gas phase do not show a continuous spread of
wavelength.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement I 1s correct

[ =

el

Options :

1908894617. 1
1908894618. 2
1908894619. 3
1908894620. 4

Question Number : 130 Question Id : 1908891171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g wua fer v

FUF - 1:74¢ G0 o deal F TFaea F o0 W wegr & 3930

FUA -11: W FTEA H A F IeHAd FIeH Jeed F et guw A
o 2|

3T FUA F qAE # e SEed # ¥ W3 W

1. FIF 13T 12 @ &
2. FUF AT 12A 79 £
3. FY 19 ¢ e F9F 17ed 2
4. FYF 170 ¢, g FuT 1 FE 2

Options :

1908894617. 1



1908894618. 2
1908894619. 3

1908894620. 4

Question Number : 131 Question Id : 1908891172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s not correct?

1. Dinitrogen is rather inert at room temperature because of the high bond enthalpy of N=N
bond.

2. Optimum conditions for the production of ammonia are a pressure of 200 x 10°Pa. a
temperature of ~700 K and the use of a catalyst.

3. Dinitrogen directly combines with some metals to form predominantly covalent nitrides.

4. Interstitial compounds are usnally non-stoichiometric and neither typically 1onic nor

covalent.

Options :

1908894621. 1
1908894622. 2
1908894623. 3

1908894624. 4

Question Number : 131 Question Id : 1908891172 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fFrfofed & @ #la @ o w7 § 0

1. N=N 36 $ 30 FEY WAl $f aoF & SEASeIo FA & ad W
HsF Bl Bl

2. AT & 3cUeA & [T SCaH e, 200 x 10° Pa g1 ~700 K a9 3R 38R
FT I £

3. STSAECIo $O I3 & AT WY FYFA g AT T Y Tgados
ATBEIEE P FA g

4. Feaaelt ARE FHER W A RRARE e & WA @ 3w ak |
Imafae 3R 7 & gEEaed B E

Options:

1908894621. 1
1908894622. 2
1908894623. 3

1908894624. 4

Question Number : 132 Question Id : 1908891173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the method mn List I with the reaction in List IT

List I List 11

. 350K 470K
A, Clark’s method ! Ni +4C0 »  Ni(CO), = Ni+4C0
B. Calgon’s method L. Mg(HCO3); + 2 Ca(OH); & 2 CaCOs| + Mg(OH); | +2H,0 |

C. Castner-Kellner's method [IIL. Ca® + Na,PsOy> > [Na,CaP:Oy” +2 Na'

Cathode: Na* + e —%—Na- amalgam
D. Mond's method ' o1 )
Anode ; Cl —:ECig +e

V.

Choose the correct answer from the options given below:

A-IL B-IIL, C-IV, D-I
A-II B-IV, C-1. D-III
A-IIL B-II, C-IV, D-I
A-IIL B-L, C-IV. D-II

=

s el

Options :

1908894625. 1
1908894626. 2
1908894627. 3

1908894628. 4

Question Number : 132 Question Id : 1908891173 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I 1F & o RfYr & gE nH afEfer @ gafea w57

-1 e -0
.A. Foeh 150K 470K

| Ni+4CO — = Ni(CO)y ——m= Ni+4CO
fafer I
B. STeldld

1. Mg(HCOQOs), + 2 Ca(OH), = 2 CaCO;| + Mg(OH), | + 2H,0
C. hTEAT
Fll [ Ca®™ + NasPeOs® > [NaxCaPeOigl” +2 Na®
fafer
D A= Cathode: Na* + e"—Na - amalgam

1

afer Anode:Cl" - =Cl, +e”

V. 2

arer T av fawent # @ 6 3o gfAv

A-IT, B-IIL. C-IV. D-I
A-II, B-IV, C-1. D-ITI
A-ITL B-II. C-IV, D-I
A-ITL B-1. C-IV. D-II

| B

e L

Options:

1908894625. 1
1908894626. 2
1908894627. 3
1908894628. 4

Question Number : 133 Question Id : 1908891174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Silicones are surrounded by non-polar alkyl groups. thus water repelling in nature.

Statement IT: The starting materials for the manufacturing of silicones are alkyl or aryl
substituted silicon chlorides.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s mcorrect
Statement I 1s tncorrect but Statement IT 15 correct

| =

ok

Options:

1908894629. 1
1908894630. 2
1908894631. 3
1908894632. 4

Question Number : 133 Question Id : 1908891174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT A FF T AT

FUF - 1 3ET OfoFa wgl & o g F Fwor faforia i sowfasdt gia
g g

FI - 11 BFaT & A & gufes gerd ofesa arver ofier gfoeard Rt
FeNTSE e 2

IF FA F HAE B Aeferes eed § ¥ W 3o 9

1. FIT 1317 12 T &)
2. FUF 137 134t T #

3. FUF 198 . fheq F99 1791 £
4. FIA 170 2. e Fu 18 2

Options:



1908894629. 1
1908894630. 2
1908894631. 3

1908894632. 4

Question Number : 134 Question Id : 1908891175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: [Ti(Hy0)s]Cls on heating, removes water molecule and becomes colorless.

Reason R: In the absence of ligand. crystal field splitting does not occur and hence the substance
1s colorless.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

[ N

Options :

1908894633. 1
1908894634. 2
1908894635. 3
1908894636. 4

Question Number : 134 Question Id : 1908891175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A g Fu U AT UF F7 AT (A) 3T TEY FFWOT (R) FET AT F

HIEFAF (A) : [TH0)]Cl TH A T Tl & HUH 7 TFTere] T & el
gl

FROT (R) : FonrE # wepeieafy & ferea &7 s @ @ & 3R sufor vy
T & 71 £

IS FUA F HAE & e fEew § ¥ 5 3o o

[S—

(A) #T (R) T TE & T (R). (A) F T amE g
(A) AT (R) ST WET & T (R). (A) T WET AT A g
(A) WEr § T=q (R) WET 4T £l
(

A) T G § T (R) T g

[ ]

L]

e

Options :

1908894633. 1
1908894634. 2
1908894635. 3
1908894636. 4

Question Number : 135 Question Id : 1908891176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: A molar property (ym) 1s the value of an extensive property (y) of the system for 01
mol of the substance.

Statement IT: If n 1s the amount matter, y, = y /m 1s independent of the amount of matter.
In light of the above statements, choose the correct answer from the options given below
Both Statement [ and Statement II are true

Both Statement I and Statement IT are false

3. Statement [ 15 true but Statement II 15 false
4. Statement I 15 false but Statement IT 15 true

[

Options :



1908894637. 1
1908894638. 2
1908894639. 3

1908894640. 4

Question Number : 135 Question Id : 1908891176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT FF Graw e

FUA - 1 TR 0T (1) TETH & TF A & O fawm & & @aws 97 () &
Gk

FUF - I1: IS 32T T AT 0T T yu=7/n §eT H AT ¥ =T &
FFT FIA F AF F AFATNGT hedt # F W 3o I

1. FUF 1HT T34 T &
2. FUF 137 D3 799 £

3. FuT 198 8 e Fa9 17T g
4. FUT 177009 ¢, Fheg Fua TTEE

Options :

1908894637. 1
1908894638. 2
1908894639. 3

1908894640. 4

Question Number : 136 Question Id : 1908891177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Carbon dioxide gas above its eritical temperature 15 called carbon dioxide vapor.
Reason R: A gas below the critical temperature can be liquefied by applying pressure.

In light of the above statements, choose the mest appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R is not correct

A 1s not correct but R 1s correct

b —

e Caa

Options :

1908894641. 1
1908894642. 2
1908894643. 3

1908894644. 4

Question Number : 136 Question Id : 1908891177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT &1 FuF fer AT € v S qBwUF (A) HT S F FROT (R) F A £

HAFIT (A) : FifaF T9AE ¥ FN Fod TRHFAES I F Fad SSHFIE
I FZd £

FNUT (R) : FifaF A9AE § &1 1 39 FF a9 T 99 BFar 1 w41 3

3‘?{1}!—? FUAT F AF A wied Fedt # ¥ W 3ol I

[—

(A IR R)IEN W E AT (R). (A) F wEr = g

(A) 3R (R) 2 WEr & T (R). (A) FT WET SAEA A &
- (A)TE & g (R) T T 8

- (A)TE T T (R) T B

e L] [ ]

Options:



1908894641. 1
1908894642. 2
1908894643. 3

1908894644. 4

Question Number : 137 Question Id : 1908891178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Greek word k (kappa) 1s the representative symbol for:

1. Resistivity

2. Molar Conductivity
Equivalent Conductivity
Conductivity

o L0

Options :

1908894645. 1
1908894646. 2
1908894647. 3

1908894648. 4

Question Number : 137 Question Id : 1908891178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M oA « (FAT) _ FIH TS €

1. gfcRngshar

. HATerX =ATeTshar
3. Jodihl =ATelshd]
4. =Telshdl

[ ]

Options :
1908894645. 1

1908894646. 2



1908894647. 3

1908894648. 4

Question Number : 138 Question Id : 1908891179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reactions does not form sols?

Double deconmposition  _
1. As0O3+ 3H-S = AsS8;+ 3H,0
Coddation
2. 2805+ (h 2503
Ooddation

B
3. 50+ 2H;S 38 +2H30

Hydralysis

4. FeClz + 3H,0O Fe(OH); + 3HaCl

Options :

1908894649. 1
1908894650. 2
1908894651. 3

1908894652. 4

Question Number : 138 Question Id : 1908891179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AfafEaa 7 9 sig i 3Rt ara T8 gardrg 2

Droaubales desconrpamition

1. As20O3+ 3H»S = AsS3;+ 3H,0

Coadation
2. 28O+ Oy 2503
Onddation
3. SO, +2H,S = 384 2H,0
Hydr oly'sis

4. FeClz + 3H20 Fe(OH); + 3H2Cl

Options:
1908894649. 1

1908894650. 2



1908894651. 3
1908894652. 4

Question Number : 139 Question Id : 1908891180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life for first order decomposition of compound X’ 15 126 minutes. then how many
hours are required for 90% decomposition of “X'?

6.97
69.7
418

41.8

bt =t

. e

Options :

1908894653. 1
1908894654 2
1908894655. 3

1908894656. 4

Question Number : 139 Question Id : 1908891180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A X & JUA Ffe 3T F 37 3T 126 AT B gE 00 % wEied g A
forceT Hver T ©

1. 6.97
2. 69.7
3. 418
4. 418
Options :
1908894653. 1
1908894654. 2
1908894655. 3

1908894656. 4



Question Number : 140 Question Id : 1908891181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Out of the given equations. which can be used to explain the temperature dependence of the rate
of a chemical reaction?

1. Tln(k/A)=-E.R
B Bh |
LA )
Rln(k’/A)=-E, T
4. Bin(/A)=-RT

L]

Options :

1908894657. 1
1908894658. 2
1908894659. 3

1908894660. 4

Question Number : 140 Question Id : 1908891181 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fer v Teieot & . R 3va qarafas dRfE r afy & aae ek
F THSE F T & 1 gar @

. Tia(k/A)=-E,R
|k‘.

2. RTIn|—|=-E,
!._":5.,]

3. Rln(k/A)=-E,T
4. Eiln(k’A)=-R.T

Options :

1908894657. 1
1908894658. 2
1908894659. 3

1908894660. 4



Question Number : 141 Question Id : 1908891182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the dilute solutions. the elevation of boiling point (ATy) 1s directly proportional to the molal
concentration (m) of the solute in a solution.

ATyam
or. ATy=kym
where ky 15:
Freezing point depression constant
Molal depression constant

3. Cryoscopic constant
4. Ebullioscopic constant

bt —

Options:

1908894661. 1
1908894662. 2
1908894663. 3
1908894664. 4

Question Number : 141 Question Id : 1908891182 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



a9 FeTa # F3uAF F 37494 (ATy) e & 39ityd faow 1 Sow o &
TR A 2

ATpam

A ATy=kym

Tk £l

1. A" 3Eaaa e

2. Ao 3998 B

| T
4. R R

Options :

L]

1908894661. 1
1908894662. 2
1908894663. 3

1908894664. 4

Question Number : 142 Question Id : 1908891183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following double bond has highest enthalpy mn kJ at 298K?

C=0
C=C
N=N
0=0

| ]

it

Options :

1908894665. 1
1908894666. 2
1908894667. 3
1908894668. 4



Question Number : 142 Question Id : 1908891183 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa= & ¥ fev o fng gfay #r t=3et W H 208 K 919 W H{E+aHA g °

O

C
=N
O

F L b2
e B o B g
Il

Options :

1908894665. 1
1908894666. 2
1908894667. 3
1908894668. 4

Question Number : 143 Question Id : 1908891184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If six atoms of equal size are placed at six faces of simple primitive cube without distorting the
lattice, what would be the packing fraction of the modified lattice?

0.74
0.63
3. 054
4. 048

b —

Options:

19088946609. 1
1908894670. 2
1908894671. 3
1908894672. 4

Question Number : 143 Question Id : 1908891184 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ife THE AN F OF WANHE & Ao # &5 &0 o Wa 37e7 07 o8
Goldl T T@T AT ¢, J e el i ol &R F41 2

0.74
0.63
3. 0.54
4. 048

b —

Options :

19088946609. 1
1908894670. 2
1908894671. 3
1908894672. 4

Question Number : 144 Question Id : 1908891185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

ListI List IT
Crystal system Examples
A. Cubic [. KNO;

B. Tetragonal II. Na:S04.10H-0
C. Orthorhombie [ITI. Zine blende
D. Monochinie |[IV. TiOa

Choose the correct answer from the options given below:

A-IV. B-1, C-II. D-III
A-IL B-III. C-IV, D-II
A-IIIL B-1. C-IV. D-II
A-III B-IV, C-1. D-II

[

Options :

1908894673. 1
1908894674. 2
1908894675. 3

1908894676. 4



Question Number : 144 Question Id : 1908891185 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 T -1 ¥ gARfoT HIfaT

T -1 T -11

foeeea EALEU

A g . KNO;

B. ZATHHETE T1. N2S04.10H,0
C. Erywerans 1L 5- =of3
D. UsheAdra] IV. TiO;

A fqr aw et # ¥ WE e IfAv

A-IV, B-1. C-II. D-III
A-L B-IIL. C-IV. D-II
A-III. B-1. C-IV. D-II
A-III B-IV. C-1. D-II

bd

-

Options:

1908894673. 1
1908894674. 2
1908894675. 3

1908894676. 4

Question Number : 145 Question Id : 1908891186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List 11

Tvpes of Solutions [Common Examples

A. Gas in Gas I. Solution of hydrogen in palladium
B. Solid in Gas II. Mixture of oxygen and nitrogen gas

C. Gas in Liquud  |III. Camphor in nitrogen gas

D. Gas in Solid IV. Oxygen dissolved in water

Choose the correct answer from the options given below:

1. A-IL B-IIIL C-IV, D-I
2. A-L B-IL, C-IV. D-III
3. A-IL B-IV, C-III. D-1
4. A-L B-IV. C-1. D-III

Options :

1908894677. 1
1908894678. 2
1908894679. 3

1908894680. 4

Question Number : 145 Question Id : 1908891186 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A-II, B-III. C-IV, D-I
A-IL B-1. C-IV. D-III
A-IL B-IV. C-III. D-I
A-IIL B-1IV, C-I. D-III

|

s

Options :

1908894677. 1
1908894678. 2
1908894679. 3

1908894680. 4

Question Number : 146 Question Id : 1908891187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II
A AG°>0[LK<1
B.AG®=0[ILK=1
C.AG®<0 [I.K>1

Choose the correct answer from the options given below:

A-I B-II. C-III
A-II. B-1. C-III
A-I B-IIIL C-II
A-II. B-III. C-I

LI S ]

o5

Options :

1908894681. 1
1908894682. 2
1908894683. 3

1908894684. 4

Question Number : 146 Question Id : 1908891187 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T IR - ¥ gRfeg fifsT
= -1 .H\_tf’r-ll.

A.AG®P>0LK<1
B.AG=0[ILK=1
C.AG <0 L. K>1

A T av fasedt # ¥ WEr 3ccR AT ¢

A-L B-II. C-III
A-II. B-1. C-TII
A-I. B-III. C-II
A-II, B-III. C-I

L O

o

Options :

1908894681. 1



1908894682. 2
1908894683. 3

1908894684. 4

Question Number : 147 Question Id : 1908891188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The mass of a gas dissolved in a given mass of a solvent at any temperature 1s
proportional to the pressure of the gas above the solvent.

Statement II: The rate of dissolution of sugar is equals to rate of crystallization of sugar at
equilibrium.

In light of the above statements, choose the correcr answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement II 15 false
Statement [ 1s false but Statement II 1s true

|

-

Options :

1908894685. 1
1908894686. 2
1908894687. 3
1908894688. 4

Question Number : 147 Question Id : 1908891188 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908894685. 1
1908894686. 2
1908894687. 3

1908894688. 4

Question Number : 148 Question Id : 1908891189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has least conductivity at 298 K7

Glass

Tetlon
Cupric oxide
Pure water

| S

P

Options:

1908894689. 1
1908894690. 2
1908894691. 3

1908894692. 4



Question Number : 148 Question Id : 1908891189 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894689. 1
1908894690. 2
1908894691. 3
1908894692. 4

Question Number : 149 Question Id : 1908891190 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
An aqueous solution with 37.92% of weight of Nay$203. what 1s the mole fraction of Nay$:03?

(Total weight of solution = 1250 g)

1. 0.051
2. 0510
3. 0.065
4. 0.65
Options:
1908894693. 1
1908894694. 2
1908894695. 3

1908894696. 4

Question Number : 149 Question Id : 1908891190 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
TF FelT 00T 7 Nay$,0; F7137.92% 81 &, o037 7 NayS,0; FT AT I F371 g9

(Frerae #7 F 97 = 1250 )

1. 0.051

[

0.510
3. 0.065
4. 0.65

Options :

1908894693. 1
1908894694. 2
1908894695. 3

1908894696. 4

Question Number : 150 Question Id : 1908891191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The radius of spheres constituting fee, bee. and simple cubic lattice in terms of edge length (a) of
the umt cells, are respectively

0.35a, 0.43a, 0.5a
0.5a. 0.43a, 0.35a
2.8a,2.31a, 2a
23, 2.31a,2.8a

e s D =

Options :

1908894697. 1
1908894698. 2
1908894699. 3

1908894700. 4

Question Number : 150 Question Id : 1908891191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



WW*W%W(a)*Wﬁfcc.bccmmmmm
el &3 F1 = FE T

1. 0.35a,0.43a, 0.5a
2. 0.5a,043a, 0.35a
2.8a,2.31a, 2a
2a,2.313,2.8a

SN )

Options :

1908894697. 1
1908894698. 2
1908894699. 3

1908894700. 4



